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Number of Questions to be attempted : 50

Section Marks : 200
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Sub-Section Number : 1
Sub-Section Id : 60096419
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 600964901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The angle of 1 (minute of arc) is nearly (2z = 360° and = 3.14)

1.2.42x107® rad
2.2.85x 107® rad
3.291 % 107* rad
4.1.75% 107* rad

Options :

6009643601. 1
6009643602. 2
6009643603. 3
6009643604. 4

Question Number : 1 Question Id : 600964901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1" & DIV (1Y BT FFE) BT HH GIdl & TTHT (21 = 360° W 1 = 3.14)

1.2.42 x 107 VST
2.285 % 107 ST
3,291 x 10 AT
4175 x 1072 ST
Options :
6009643601. 1
6009643602. 2

6009643603. 3
6009643604. 4

Question Number : 2 Question Id : 600964902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A ball is thrown vertically upward with certain velocity from the surface of the earth and after some
time it returns back to the earth. The velocity - time (v-t) graph for the entire journey is given by

VA

VT
A Page - 3
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VA
3
>t
VA
4 | N t
Options :

6009643605. 1
6009643606. 2
6009643607. 3
6009643608. 4

Question Number : 2 Question Id : 600964902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Page - 4



Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Options :

6009643605. 1
6009643606. 2
6009643607. 3
6009643608. 4

Question Number : 3 Question Id : 600964903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A cricket ball is thrown at a speed of 32 ms™ in a direction 30° above the horizontal. The maximum

height it will attain is (take g = 10 ms™)

1.08m
2.128m
3.256m

4.51.2m

Options :

6009643609. 1
6009643610. 2
6009643611. 3
6009643612. 4

Question Number : 3 Question Id : 600964903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ol fobdpe 71 1 AT T 30° & BI0 P12 32 ms™" &1 10 A Bl T 31 39 GRI 79 Bl Tt
I
35 § (g = 10 ms2 Wiy

1.08m

2.128m
3.256m
4.512m

Options :

60096436009. 1
6009643610. 2
6009643611. 3
6009643612. 4

Question Number : 4 Question Id : 600964904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The motion of a particle of mass m is described by y = ut + - gt2. The force acting on the particle is

1. Zero

1

3. mg
4,2mg

Options :
6009643613. 1

6009643614. 2 Page - 8



6009643615. 3
6009643616. 4

Question Number : 4 Question Id : 600964904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

GO m & [t ST BT DTTU = g 42 g¢2 TR 6T T B 1 5 PV R IIG 9 6
_ 79

154

1
2.

2 mg
3.mg
4.2mg

Options :
6009643613. 1
6009643614. 2

6009643615. 3
6009643616. 4

Question Number : 5 Question Id : 600964905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A batsman hits back a ball of mass 0.2 kg straight in the direction of the bowler without changing its
initial
speed of 10 m 57", Assuming linear motion of the ball, the impulse imparted to the ball is

1.4Ns
2.2Ns
3. Zero

4.-4Ns

Options :

6009643617. 1
6009643618. 2
6009643619. 3
6009643620. 4

Question Number : 5 Question Id : 600964905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

IS TEaT 0.2 kg SO 1 g & il Tear B far # 39 AR 91 10 ™! # 71 1
TR fopU e AR a1 O < ¢ 1 e 1 i b1 e |l 5 7l bt G o T aia @

1.4 Ns
2.2 Ns

3.
4,-4Ns

Options :
6009643617. 1

6009643618. 2
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6009643619. 3
6009643620. 4

Question Number : 6 Question Id : 600964906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A man of mass 70 kg stands on a weighing scale in a lift which is moving upwards with a uniform
acceleration
of 10 m s, The reading on the weighing scale will be (take g = 10m s?)

1. Zero
2.35kg
3.70kg
4.140 kg

Options :

6009643621. 1
6009643622. 2
6009643623. 3
6009643624. 4

Question Number : 6 Question Id : 600964906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 11



70 kg SO &1 B3 tad opl fore , 1 10 ms 2 & UHaHM @Rl & Sufepdt mia &% g1 2, foel
YR AT &1 72 RGeS 1 59 A $1 U6 g (g = 10 ms W)

1.3
2.35kg

3.70 kg
4,140 kg

Options :

6009643621. 1
6009643622. 2
6009643623. 3
6009643624. 4

Question Number : 7 Question Id : 600964907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A bob of mass m is suspended by a thread of length L. At the lowest point A (see figure) of its
position a horizontal velocity v, is imparted such that it completes a semicircular trajectory in the
vertical plane. The minimum velocity imparted should be

Options :

6009643625. 1
6009643626. 2
6009643627. 3
6009643628. 4

Question Number : 7 Question Id : 600964907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Page - 13



SO m BT Bl T awars L 3 ot o & Feife 81 5 e g A (o 2fay) [ a1
Afa 4 v, 39 UHR VM fopdl ol & fob 0 Mo SrwafR a  srefawdta oy (e o) o et &
WA fosa 7 e v g fRe

1 'r"rf’!TL
2 il
3. w‘ﬁ

4 |gL

=
‘45

Options :

6009643625. 1
6009643626. 2
6009643627. 3
6009643628. 4

Question Number : 8 Question Id : 600964908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The moment of inertia of a disc of mass M and radius R about one of its diameter is

1. MR?

2. MR*/2

3. MR* /4

4 MR*/6
Options :
6009643629. 1
6009643630. 2

6009643631. 3
6009643632. 4

Question Number : 8 Question Id : 600964908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

SO M 3R B R 1 forelt afihet o7 3yl el o & e s oot gl

1. MR?

2. MR*/2

3. MR? /4

4 MR /6
Options :
6009643629. 1
6009643630. 2

6009643631. 3
6009643632. 4
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Question Number : 9 Question Id : 600964909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The speed of a planet at the perihelion is v, and the sun planet distance is r,. The corresponding
quantities at the aphelion are y, and r, respectively. Then

v I,
P F
1 —=
Va
y
P
2._':
Va T

Options :

6009643633. 1
6009643634. 2
6009643635. 3
6009643636. 4

Question Number : 9 Question Id : 600964909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ot 75 3t 4T€1r_|f‘_|d (STIR) R, & 74 6 g8 . 1 3 dagedt At 0 3e (i) |
hHAL: v, Rl ra_5)| dq

)
rﬂ rd
v I
P a
2 L=
Vg T
. -
3% V'
. I
Uy VTa
v, Jr
P _Y'a
4! 11— = _F.'
a
Options :

6009643633. 1
6009643634. 2
6009643635. 3
6009643636. 4

Question Number : 10 Question Id : 600964910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Page - 17



A comet is revolving around the sun in a highly elliptical orbit. Which of the following quantity has
constant value during its revolution?

1. Linear speed
2. Angular momentum
3. Anqular speed

4. Kinetic energy
Options :
6009643637 1
6009643638 2

6009643639. 3
6009643640. 4

Question Number : 10 Question Id : 600964910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

IS g S Seigdi e g @ Ui &% 1 81 R F% aeg A & i e T
&1 A 90 Gl 87

1.39% 91
2. Bl W
3, Bl 91
4,770 ol

Options :
6009643637. 1
6009643638. 2
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6009643639. 3
6009643640. 4

Question Number : 11 Question Id : 600964911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A water tank filled with water has a small hole at a depth h from the top surface of the water. If the

tank is open to atmosphere and the cross-sectional area of the tank is much larger than that of the
hole, then the speed of efflux is given by

L gh
2 g
3. E".-"E
g2

Options :

6009643641. 1
6009643642. 2
6009643643. 3
6009643644. 4

Question Number : 11 Question Id : 600964911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ol ¥ 4 foblt o ot o ot o W OB 1 TS R IS e 9% 1 91 95 Tl R A el ¢ ol
Sl Dl STHRY-PIC FI 47l 34 s @l dartl H agd o g, ol s & ot & Feberd @l a1t g

Options :

6009643641. 1
6009643642. 2
6009643643. 3
6009643644. 4

Question Number : 12 Question Id : 600964912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The density of water is maximum at the temperature of

1.4K

2.4°C

3.4°F

4.0°C
Options :
6009643645. 1
6009643646. 2
6009643647. 3

6009643648. 4
Page - 20



Question Number : 12 Question Id : 600964912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

frfofad § 9 6 d W o &1 99 Hida gid e?

1.4K

2.4°C

3.4°F

4.0°C
Options :
6009643645. 1
6009643646. 2

6009643647. 3
6009643648. 4

Question Number : 13 Question Id : 600964913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A vessel contains two non-reactive gases: neon and helium. The ratio of their partial pressure is 3: 2.
The ratio of their number of molecules will be

1.1:1
2.1:2
3.2:3
4.3:2

Options :
Page - 21



6009643649. 1
6009643650. 2
6009643651. 3
6009643652. 4

Question Number : 13 Question Id : 600964913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fopdlt o 1 & aifopm 9 i e gifera 48t €1 ST S a1l 1 ST 3¢ 2 §1 3 sl @
T 1 0T g

1.1:1
2.1:2
3.2:3
4.3:2

Options :

6009643649. 1
6009643650. 2
6009643651. 3
6009643652. 4

Question Number : 14 Question Id : 600964914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 22



The mean free path of molecules each having diameter d, in a gas having n number of molecules per
unit volume is given by

1. 1/(V2nrd?)
2. 1/(2nnd?)
3.1/(V2nrtd?)
4.1/(2nd®)
Options :
6009643653. 1
6009643654. 2

6009643655. 3
6009643656. 4

Question Number : 14 Question Id : 600964914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ot 7, foreh Q) Gapic St H 3l 61 61 n § 1 T ] 1 9 &, & U] ] -
Had T il 6

1. 1/(V2nnd?)
2.1/(2nmnd?)
3. 1/(Vnr?d?)
4.1/(2nd*)
Options :
6009643653. 1

6009643654. 2

6009643655. 3 Page - 23



6009643656. 4

Question Number : 15 Question Id : 600964915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The pressure of a gas, kept in an isothermal container is 200 Pa. The pressure when half of the gas is

removed will be

1.800 Pa
2.400 Pa
3. 200 Pa

4.100 Pa

Options :

6009643657. 1
6009643658. 2
6009643659. 3
6009643660. 4

Question Number : 15 Question Id : 600964915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fopaft vy o F oR foeft 7 1 57 200 Pa 1 50 T R 31ef 1 T & e @ g

1.800 Pa
2.400 Pa
3. 200 Pa
4.100 Pa

Page - 24



Options :

6009643657. 1
6009643658. 2
6009643659. 3
6009643660. 4

Question Number : 16 Question Id : 600964916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A 30 ¢cm long pipe, open at both ends resonates with frequency 1.1 kHz. The mode of vibration will
be (take velocity of sound 330 ms™)

1. First harmonic

2. Second harmonic
3. Third harmonic

4, Fourth harmanic

Options :

6009643661. 1
6009643662. 2
6009643663. 3
6009643664. 4

Question Number : 16 Question Id : 600964916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 25



< R 8 el 30 em WIS F B3 URY 1.1 kHz B 1GR3 G Bl g1 30D HFH 3 fauT
gl (%1 1 a1 330 ms o)

1. A G i)
2. Toelt W71 @I
3, Jaild STl (gmii)
4, 9 G grti)
Options :
6009643661. 1
6009643662. 2

6009643663. 3
6009643664. 4

Question Number : 17 Question Id : 600964917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The length of a simple pendulum which ticks seconds is (take g = 10 ms™ * = 10)

1.4m
2.2m
3.1m
4,0.5m

Options :
6009643665. 1
6009643666. 2
6009643667. 3
6009643668. 4
Page - 26



Question Number : 17 Question Id : 600964917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

39 IR AP DI T, o Ui JHUS oh @l i el g, 8l 6 (g = 10 ms™ g2 = 10 TY

1.4m
2.2m
31m

4.0.5m
Options :
6009643665. 1
6009643666. 2

6009643667. 3
6009643668. 4

Question Number : 18 Question Id : 600964918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The temperature of two bodies measured by a thermometer are 1, =40C+02¢C and
T, = 10:C +0.2:C. The temperature difference (r;~,) and the error therein is

1.30°C + 0.0°C
2.30°C + 0.2°C
3.30°C + 04°C
4.30°C + 0.1°C

Options :
Page - 27



6009643669. 1
6009643670. 2
6009643671. 3
6009643672. 4

Question Number : 18 Question Id : 600964918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

foreft oifiey & A W &l VST M 7, = 49 oc 402 0¢ T T, = 10 °c 0,20 ¢! 37 0 & 4
IR
(7,-,) T 5 3¢ g

1.30°C 4 00°C
2.30°C +02°C
3.30C + 04°C
4,30°C +0.1°C

Options :

6009643669. 1
6009643670. 2
6009643671. 3
6009643672. 4

Question Number : 19 Question Id : 600964919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 28



What is the maximum acceleration of a train in which a box lying on its floor will remain stationary,

given that the coefficient of static friction between the box and the train’s floor is 0.27 (take g = 10
-2

ms™)

1. Zero
2.1.0 ms™
3,20 ms™

4. 4.0 ms™

Options :

6009643673. 1
6009643674. 2
6009643675. 3
6009643676. 4

Question Number : 19 Question Id : 600964919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o8l < 1 I R R g Fore 36 R R X Bl 4l (R g, 1631 § o a9 3R oA
& B & did Ridd 980 0 0.2 82 (9= 10 ms™2 liforD)

1. 99
2.1.0ms™
3.20ms™

4.40ms™

Options :
6009643673. 1

6009643674. 2 Page - 29



6009643675. 3
6009643676. 4

Question Number : 20 Question Id : 600964920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Consider a rain drop of water of mass 2.0 g falling from a height of 1.0 km. After sometime it attains
terminal velocity of 40 m s™ due to viscous force of air. Then the magnitude of work done by
viscous force as the water drop hits the ground is (take g = 10 m s79)

1.84)
2.124)
3.164 )
4.184)
Options :
6009643677. 1
6009643678. 2

6009643679. 3
6009643680. 4

Question Number : 20 Question Id : 600964920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1.0 km @1 Gl 8 fRd 2.0 g 5o 31 a9 B -5 R [F9R HIfo) I & A 90 & PRY 9
Y UL U5 §a Sifad () 3 v &R didl @1 o 95 Sid-6g Rl @ el @ oF M & g
Wﬂﬂﬁﬁﬁqﬁﬂﬂm%[w 10 ms2 diiform)

1.84)
2.124)
3.164 ]

4.184)

Options :

6009643677. 1
6009643678. 2
6009643679. 3
6009643680. 4

Question Number : 21 Question Id : 600964921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The angular momentum about the origin for a particle of mass 5 kg moving with a velocity v = 10
m s~ and at a position given by r = 2im/is

1.10 kkgm? s
2.50 jkgm® 5™
3.100 kkgm®s™
4,200 kgm® s~

Options :
6009643681. 1
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6009643682. 2
6009643683. 3
6009643684. 4

Question Number : 21 Question Id : 600964921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ﬁﬂﬁﬁmﬁrzgunmﬁﬂu:lmnﬁ’ﬁl3HﬂS@§ﬂHH$ﬁﬂﬂ¢W$ﬂNHﬁ?ﬂﬁﬁ
b1y H gl ©

1.10kkgm®s™
2.50 kgm? s
3.100 kkgm®s™
4.200 ikgm®s™
Options :
6009643681. 1
6009643682. 2

6009643683. 3
6009643684. 4

Question Number : 22 Question Id : 600964922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A steel rod of radius 10 mm and length 2.0 m s stretched by a force of 2x10° N along its length. The
stress acting on the rod is nearly (x = =)

1.3.18x10°N m™
2.6.36x10°N m™
3,3.18x10°N m™
4,6.36x108N m™
Options :
6009643685. 1
6009643686. 2

6009643687. 3
6009643688. 4

Question Number : 22 Question Id : 600964922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TS 20 m 3R IS 10 mm B (64 KTa 31 3 B 3901 A5 b G 2x10° N & ¥l 4
BRI Tl T @1 58 85 R IR W & el (= 2

1.3.18x105N m™
2.6.36x108 N m
3,3.18x10°N m™
4,6.36x10°N m

Options :
6009643685. 1
6009643686. 2
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6009643687. 3
6009643688. 4

Question Number : 23 Question Id : 600964923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
According to Stokes' law, the viscous force acting on a body falling through a viscous fluid, is
proportional to
(n Is the coefficient of viscosity)

1.n
2.0
3.
"-'1. l]:

Options :

6009643689. 1
6009643690. 2
6009643691. 3
6009643692. 4

Question Number : 23 Question Id : 600964923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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I 3 W 3 SR e e o # e foef v R iRl <o 9 S 61 g
SR U6 )

.1

2.

3.

4.n?

Options :

6009643689. 1
6009643690. 2
6009643691. 3
6009643692. 4

Question Number : 24 Question Id : 600964924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A heat engine takes 100 J of heat from a hot reservoir and releases 25 J of heat to a cold reservoir.
The efficiency of the heat engine is

1.0.25
2.0.50
3.0.75
4.1.00

Options :
6009643693. 1
6009643694. 2
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6009643695. 3
6009643696. 4

Question Number : 24 Question Id : 600964924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Pl S 2o [l 7T US F 100 ) A el § Ul 68 UG Bl 25 ) N1 T el ¢ | 39 2o I
Gl o

1.0.25

2.0.50

3.0.75
4.1.00
Options :
6009643693. 1
6009643694. 2

6009643695. 3
6009643696. 4

Question Number : 25 Question Id : 600964925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 36



A body oscillates with SHM according to the equation

x = 4sin( 2nt +n/4)m

Its displacement at t =1.0 s, is (take {2 = 1.4)

1.20m
2.28m
3.40m
4.56m
Options :
6009643697. 1
6009643698. 2

6009643699. 3
6009643700. 4

Question Number : 25 Question Id : 600964925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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D13 U8 G
x = 4sin(2nt + n/4)m
&b SFTHR TR 31T 1 (SHM) FRAT R ¢ =1.0 s TR 38 U8 1 fARITTH G (7 = 1.4 Clifor)

1.20m
2.28m
3.40m
4,56 m

Options :

6009643697. 1
6009643698. 2
6009643699. 3
6009643700. 4

Question Number : 26 Question Id : 600964926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A glass slab of refractive index 1.47 disappears in trough of liquid. The refractive index of the liquid
will be

11472
21413
3.147

4.10

Options :
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6009643701. 1
6009643702. 2
6009643703. 3
6009643704. 4

Question Number : 26 Question Id : 600964926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1.47 HUGHIe 1 HIS Hid ST Td [l 53 & P8 A 81 1l §1 59 F1 fUachid g

L 147V2
21413
3.147
4.1.0

Options :

6009643701. 1
6009643702. 2
6009643703. 3
6009643704. 4

Question Number : 27 Question Id : 600964927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Work function of certain metal is 3.3 eV. The threshold frequency for the same metal for
photoelectric emission will be (h = 6.6x103*J5; 1eV = 1.6x107°))

1.8.0x10" Hz
2.8.0x10"° Hz
3.80x10" Hz
4,80x10" Hz

Options :

6009643705. 1
6009643706. 2
6009643707. 3
6009643708. 4

Question Number : 27 Question Id : 600964927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

(o} e1q T PRAGEH 33 eV 1 THT-fAgyq oM & fou 33 e1g & o gt amafa gt (h =
6.6x10% J5;
1eV=16x10"))

1.8.0x10™ Hz
2.8.0x10" Hz
3,8.0x10" Hz
4.8.0x10" Hz
Options :
6009643705. 1
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6009643706. 2
6009643707. 3
6009643708. 4

Question Number : 28 Question Id : 600964928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The ground state energy of electron in hydrogen atom is -13.6 eV. The corresponding kinetic and

potential energies are respectively

1. Zero:-13.6 eV
2.-68¢eV:-68¢eV
3.136eV:-272¢V
4.-13.6eV: Zero
Options :
6009643709. 1
6009643710. 2

6009643711. 3
6009643712. 4

Question Number : 28 Question Id : 600964928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 41



BISS I TRAI] A el B! 0 TRl Fofl -13.6 &V 81 Tl afiet 3R Rfid ol g §

.94, -136eV
2.-6.8eV;-6.8¢eV
3.136eV;-272¢V
4-136eV; 4
Options :
6009643709. 1
6009643710. 2

6009643711. 3
6009643712. 4

Question Number : 29 Question Id : 600964929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Tritium undergoing P decay has a half-life of 12.5 y. The percentage of pure tritium which remains
un-decayed after 50y is

1.93.55
2.875
3.6.25

4.3.125

Options :

6009643713. 1
6009643714. 2
6009643715. 3

6009643716. 4
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Question Number : 29 Question Id : 600964929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

B & gl cifeam bt aref 12,5 7 @1 50 o & i fon & gU 9w w9 s e @t o g

1.93.75
2.81.5
3.6.25
4.3.125

Options :

6009643713. 1
6009643714. 2
6009643715. 3
6009643716. 4

Question Number : 30 Question Id : 600964930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The symbol y in the following nuclear reaction represents

SU+n-3 U3 Np+ X +9

1. y-ray

2. Antiproton
3. a-particle
4. B-particle

Options :
Page - 43



6009643717. 1
6009643718. 2
6009643719. 3
6009643720. 4

Question Number : 30 Question Id : 600964930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A &l Tt it srfiichar | X [HgH! e W?ﬂé? By 4B U8 Np+ X+

1, y-Ibuf

2. Tel-Siie

3. o-V|

4, -0
Options :
6009643717. 1
6009643718. 2

6009643719. 3
6009643720. 4

Question Number : 31 Question Id : 600964931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 44



The V-I characteristics of a solar cell is shown in the figure. The points A and B are respectively called

;.ﬁ

1. Open circuit voltage ; short circuit current
2. Open circuit voltage ; open circuit current
3. Short circuit voltage ; short circuit current
4. Short circuit voltage ; open circuit current

Options :

6009643721. 1

6009643722, 2

6009643723. 3
6009643724. 4

Question Number : 31 Question Id : 600964931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A feu o # fordh R & 1 v-1 oifirenesfore e 81 fag A ok B #WY: Pgad ¢

;.ﬂ

1, Gall GRTY dieed; @Y uRuY 4RI
2. 01 URTY dieed! ; Gal URTY 4R
3, T URUY qleed; @Y URUY 4R]
4, O UROY dleedl ; Gail TRTY 4Ry

Options :

6009643721. 1

6009643722. 2

6009643723. 3
6009643724. 4

Question Number : 32 Question Id : 600964932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The frequency range of cellular radio mobile is

1. 540 - 1600 kHz
2.88 - 108 MHz
3.174 - 216 MHz

4. 89 - 935 MHz

Options :

6009643725. 1
6009643726. 2
6009643727. 3
6009643728. 4

Question Number : 32 Question Id : 600964932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
oo S TS &1 3gh U §

1. 540 - 1600 kHz
2.88-108 MHz

3.174 - 216 MHz
4.89 - 935 MHz

Options :

6009643725. 1
6009643726. 2
6009643727. 3
6009643728. 4

Question Number : 33 Question Id : 600964933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is uaegs’teim}1r -



Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The diode used for voltage requlation is

1. Zener diode

2. Light emitting diode
3. Photodiode

4. Solar cell

Options :

6009643729. 1
6009643730. 2
6009643731. 3
6009643732. 4

Question Number : 33 Question Id : 600964933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

diced] Faa & forw Sugi U o i s §

1, R SlS

2. Y19 JoGold SIS (LED)
3‘. 151 E\.;lq\.;

4, 4R 9d
Options :

6009643729. 1
6009643730. 2

6009643731. 3
6009643732. 4
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Question Number : 34 Question Id : 600964934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In optical fibre, the light travel along the fibre by undergoing repeated total internal reflections. For
this purpose we ensure that the refractive index of the material

1.1s low
2. decreases from centre towards surface
3. increases from centre towards surface
4.1s high

Options :

6009643733. 1
6009643734. 2
6009643735. 3
6009643736. 4

Question Number : 34 Question Id : 600964934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

IR o # g & 3o T YRl Ul S TRTAH G 3 RO T el &1 3 foe
&1 T GARE &% § o 7 & e & siadie

1.5 gl |
2. & YU Bl AR T
3. 6% Y UB 3l AR ag

4,39
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Options :

6009643733. 1
6009643734. 2
6009643735. 3
6009643736. 4

Question Number : 35 Question Id : 600964935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
As a rare view mirror in a car, the type of mirror used is,

1. Plane

2. Concave
3. Convex
4. Cylindrical

Options :

6009643737. 1
6009643738. 2
6009643739. 3
6009643740. 4

Question Number : 35 Question Id : 600964935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. THAA

2. 3ddd
3,
4 §IHR

Options :

6009643737. 1
6009643738. 2
6009643739. 3
6009643740. 4

Question Number : 36 Question Id : 600964936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The reddish appearance of the Sun near the horizon is due to the following phenomenon of light

1. Refraction

2. Rayleigh Scattering

3. Diffraction

4, Total internal refraction

Options :

6009643741. 1
6009643742. 2
6009643743. 3
6009643744. 4
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Question Number : 36 Question Id : 600964936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

(TSt & T T o Y Ul G B BRYI A1 6 T PIA-G1 IRee g2

1, 3T

EGRCALG

3, fagd

4, 701 3fTdRd WIdeH
Options :
6009643741. 1
6009643742. 2

6009643743. 3
6009643744. 4

Question Number : 37 Question Id : 600964937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The magnetic field due to a circular wire loop of radius R and carrying current / at its centre is given
by (4, is the permeability of free space)

1. Bgl/2R
2. ol 2R
3, gl 2R°
4 uDF;‘ETLR:
Options :

6009643745. 1
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6009643746. 2
6009643747. 3
6009643748. 4

Question Number : 37 Question Id : 600964937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
s g & TR & JAI6R U, fore oRT 7 Waifed 1 61 €, & SRV 98 g | Jraabid &7 Giell &
@l fy Hefd AP Pl JrIHd ?)

1. byl /2R
2. gl /2nR
3. gl /281
4 1 /2nR?

Options :

6009643745. 1
6009643746. 2
6009643747. 3
6009643748. 4

Question Number : 38 Question Id : 600964938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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When a p-n junction diode is reversed bias, the width of the depletion region,

1. Increases

2. Decreases
3. Remains unaltered
4. Becomes zero

Options :

6009643749. 1
6009643750. 2
6009643751. 3
6009643752. 4

Question Number : 38 Question Id : 600964938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

4 Bl p-n SIS VTR St g €, a gri &7 @ AT
1 a:s;trrrcﬂa

Options :

6009643749. 1
6009643750. 2
6009643751. 3
6009643752. 4

Question Number : 39 Question Id : 600964939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is QF1>1est10n
age -



Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The electric field inside a uniformly charged thin spherical shell having radius R and total charge Q is
(g,iS the permittivity of free space)

1. Q/4ne,R?
2. (/4ne,R

3. Zero

4. Q/2neqR?

Options :

6009643753. 1
6009643754. 2
6009643755. 3
6009643756. 4

Question Number : 39 Question Id : 600964939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
1 A Q AT AT R 5 T S il il & o faqe 47 €en € (e ¢, T ST
! [AGURIeId]/ RISy ¢)

1. Q/4ne,R?
2. Q/4ne,R
3.9

4. Q/ne,yR?

Options :
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6009643753. 1
6009643754. 2
6009643755. 3
6009643756. 4

Question Number : 40 Question Id : 600964940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A Van de Graaff generator is used for

1. Accelerating neutron

2. Charging capacitor
3. Generating electricity

4. Accelerating charge particles
Options :
6009643757. 1
6009643758. 2
6009643759. 3
6009643760. 4

Question Number : 40 Question Id : 600964940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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S A1 o BT ST a1 oI ¢
1, M B ARG P B g
2. 91 1 H1dfId H3 & fefw
3, f4qyq & o & faw
4, 311 B Bl @R FH & fefu
Options :
6009643757. 1
6009643758. 2

6009643759. 3
6009643760. 4

Question Number : 41 Question Id : 600964941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A current is flowing through a conductor of non-uniform cross section. The quantity which remains
constant along the conductor is

1. Current density
2. Drift velocity
3. Current

4. Electric field
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Options :

6009643761. 1
6009643762. 2
6009643763. 3
6009643764. 4

Question Number : 41 Question Id : 600964941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

(ol SR SFTRY-BIC & 11 | g oRT Walfed & W1 ¢ | A1 o SFfaR] f-ad e arell Wil ¢

1, §RT I
2. TG a1
3¢

INERIGEE

Options :

6009643761. 1
6009643762. 2
6009643763. 3
6009643764. 4

Question Number : 42 Question Id : 600964942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The total resistance between terminal A and B is (see figure)

00 200
S S
A 00 8
AW——
N0 400
1.90 Q)
2600
3300
4200

Options :

6009643765. 1
6009643766. 2
6009643767. 3
6009643768. 4

Question Number : 42 Question Id : 600964942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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cffa A 3R B & ot o TRy & (3R Sy

100 200
A WW—
200 400

1.90Q)

2.600

3.300)

4,200

Options :

6009643765. 1
6009643766. 2
6009643767. 3
6009643768. 4

Question Number : 43 Question Id : 600964943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The evidence of connection between electric and magnetic phenomena was demonstrated by

1. H.C. Qersted

2. HA. Lorentz
3. Joseph Henry
4. Michael Faraday
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Options :

6009643769. 1
6009643770. 2
6009643771. 3
6009643772. 4

Question Number : 43 Question Id : 600964943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

degqT 3R TrePTg TRECISN & dr ey & T bl fope faffa foar am

1,79, 9, 3ffice
). T4, U AR
3, T o
4, A5 bils
Options :
6009643769. 1
6009643770. 2

6009643771. 3
6009643772. 4

Question Number : 44 Question Id : 600964944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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When a charged particle having charge g and mass m is accelerated in a cyclotron having magnetic
field strength B, the cyclotron frequency is given by

1.nm/qB
2. 2nm/qB
3. qB/2mm

4. qB/mm
Options :
6009643773. 1
6009643774.2

6009643775. 3
6009643776. 4

Question Number : 44 Question Id : 600964944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
wmﬁmmmqﬁwmwﬁmmmmﬁmﬁmmﬁmaﬁa
fove it ©, ot Wrgeiiei 1 afigfel gl ¢

1.nm/qB
2. 2nm/qB
3. qB/2nm
4. ¢B/mm

Options :
6009643773. 1

6009643774. 2
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6009643775. 3
6009643776. 4

Question Number : 45 Question Id : 600964945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

To convert a galvanometer to an ammeter we connect

1. A low resistance in parallel with the galvanometer

2. A low resistance in series with the galvanometer
3. A high resistance in parallel with the galvanometer
4. A high resistance in series with the galvanometer

Options :

6009643777. 1
6009643778. 2
6009643779. 3
6009643780. 4

Question Number : 45 Question Id : 600964945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

fopdl AcaefieicR I UHteR H URafdd H b g &9 Waifofd o 67

1, TedTex & 9 01 i g ity
2. Teaiiey & g 9ol 7 313 g vforiy
3, TedIHieR & 91y 01§ f 33 ieRIY
4, TiedieieR & ey 9ot 7 iy I ufeRly

Options :
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6009643777. 1
6009643778. 2
6009643779. 3
6009643780. 4

Question Number : 46 Question Id : 600964946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
At a certain place a horizontal component of earth’s magnetic field is 0.26 G and the dip angle is 45°.
The magnetic field of the earth at this location is

1.72/026

3
2. “T X 026G

A

3.026/V26
402626

Options :

6009643781. 1
6009643782. 2
6009643783. 3
6009643784. 4

Question Number : 46 Question Id : 600964946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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BB 47 ¢

1.9/2/026 G

2835 0266

2
3.026/V26

402626

Options :

6009643781. 1
6009643782. 2
6009643783. 3
6009643784. 4

Question Number : 47 Question Id : 600964947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Working of induction furnace is based on the principle of

1. Heating effect of current

2. Eddy current effect
3. Mutual induction
4. Self induction

Options :
6009643785. 1

6009643786. 2
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6009643787. 3
6009643788. 4

Question Number : 47 Question Id : 600964947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

IRV 4 1 7 ot R R ameied &2

1, YR B i wHE

2. HaR 4RI UG

3, 3 TR

4, IR0
Options :
6009643785. 1
6009643786. 2
6009643787. 3
6009643788. 4

Question Number : 48 Question Id : 600964948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A 20 yF capacitor is connected to a 200 V, 50 Hz ac source. Its capacitive reactance is

1. Smx 10%0
2. 5mx 10°0)
3. (5/n) x 10°0
4. (5/m) x 1010
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Options :

6009643789. 1
6009643790. 2
6009643791. 3
6009643792. 4

Question Number : 48 Question Id : 600964948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

20 i TG 1 DI TN 200 V, 50 Hz 33 & ac Fid 3 FTIford ¢ 1 ST L1Rel WidHTd ¢

. Smx 103 Q

2. 5mx 10°Q

3. (5/m) x 102 0

4. (5/m) x 101 0
Options :
6009643789. 1
6009643790. 2

6009643791. 3
6009643792. 4

Question Number : 49 Question Id : 600964949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A plane electromagnetic wave of frequency 50 MHz is traveling in free space in x-direction. At a
particular point in space and time, E= 6.3 jV m™". The magnetic field B at this point is

1,21 x 1078 kT

2. =21 %1078 kT

3.1.89 x 10~7KT

4. 189 x 10~7kT
Options :
6009643793. 1
6009643794. 2

6009643795. 3
6009643796. 4

Question Number : 49 Question Id : 600964949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
50 MHz 31afcl 31 IS Tuda fagd T o el Samisl  x-fam & T &R 6 g1 SadRI 3R
fedara ¥ fordlt fog WE=6.3] vim'' ¢1 39 fie R Iraola 87 B 3

1.21 x 1078 kT

2 -21x10°8KkT
3.1.89 x 10~7kT
4. -1,89 x 1077 KT

Options :
6009643793. 1

6009643794. 2
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6009643795. 3
6009643796. 4

Question Number : 50 Question Id : 600964950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A square loop of side 10 cm is placed vertically in the east west plane. A uniform magnetic field of
0.1T s set up across the plane of the loop in the northeast direction. The flux linked with the loop is

1.V2x 1072 Wb

2.V2x 1073 Wh

3. (1/V2) X 102 Wb

4 (1N2)x 10 Wb
Options :
6009643797. 1
6009643798. 2

6009643799. 3
6009643800. 4

Question Number : 50 Question Id : 600964950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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10 cm 41 P1 B13 TR T T4-UFH 70 H FeaieRa: 761 ¢ 38 U & 90 & RRI R JR-ud fen
501 TH SIS WHGHM TEHIT &7 T T ¢ 39 U 3 Uag Faa ¢

1.V2x 102 wh
2.2x107% Wb
3. (1/V2) X 1072 Wb
4 (1N2)x 1073 Wb

Options :

6009643797. 1
6009643798. 2
6009643799. 3
6009643800. 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Part B Chemistry
60096420
2
Online
Mandatory
50
50
200
Yes
Yes
Yes
1
60096420
Yes
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Question Number : 51 Question Id : 600964951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ortho-sulphobenzimide is also known as

1. saccharin

2. sucralose
3. aspartame
4. alitame

Options :

6009643801. 1
6009643802. 2
6009643803. 3
6009643804. 4

Question Number : 51 Question Id : 600964951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

- Temidoies &l Fufafed 7 € o Tm 8 st T o g2

1, GH
). g
3, TEITeH
4, TfcieH
Options :

6009643801. 1
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6009643802. 2
6009643803. 3
6009643804. 4

Question Number : 52 Question Id : 600964952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Among the following hormones :

A. Calcitonin

B. Parathyroid
C. Oxytocin

D. Progesterone

Select the correct option which is/are responsible to maintain the concentration of calcium in
plasma.

1.0nly B
2B CandD
3.A,Band C
4. Aand B

Options :

6009643805. 1
6009643806. 2
6009643807. 3

6009643808. 4 Page - 72



Question Number : 52 Question Id : 600964952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
1 U U g H & BH-91/4 oA H bictig P Figd] $1 10 W & foru IoReri 8/ -
A. Bl
B, IRIUTRIGE
C. Hdie
D. WuieT
el faed AU

1. $d B
2.B,C3RD
3AB3RC
4 AR B

Options :

6009643805. 1
6009643806. 2
6009643807. 3
6009643808. 4

Question Number : 53 Question Id : 600964953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1
Which one of the following is used as a catalyst in the given reaction?

Catalyst (in wate
HC=CH, + O, JStmvater) | o cHo

1.Pb (Il
2.Cu(l)
3,Pb ()

4, Cu (Il)
Options :
6009643809. 1
6009643810. 2

6009643811. 3
6009643812. 4

Question Number : 53 Question Id : 600964953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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& et et aiforan # < U T B-91 SIRS JUE a1 S 87

IR (W o
H,C=CH, + 0, ——— "> CH,CHO

1. Pb (Il

2. Cu (l)

3. Pb (l)

4, Cu (ll)
Options :
6009643809. 1
6009643810. 2

6009643811. 3
6009643812. 4

Question Number : 54 Question Id : 600964954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 75



Match the polymers in Column | with their examples given in Column I1 ;

Column| Column I
A. Elastomer |, Bakelite
B. Fibres II. Buna-S

C. Thermoplastic polymers | lll. Polystyrene

D. Thermosetting T
. Nylon-6,

polymers

Choose the correct answer from the options given below:

1. 1-A; 1I-B; I-C; IV-D

2. |-B; II-D; II-G; IV-A

3.1-B; II-C; llI-D; IV-A

4, A-l, B-ll, C-IV, DIl
Options :

6009643813. 1
6009643814. 2
6009643815. 3
6009643816. 4

Question Number : 54 Question Id : 600964954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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B | 7 T 70 501 (UTeivR) 31 ierm Il 7 3T 70 36 Jareeul ¥ M
BT

Hie | Hre Il
A. TIRYE (SR | dbae
B, 3 (BN LS
C. AR 50 (UR) RS
D. 10-€G 9ga1® (UTeliFR) \V, 6,6
A feu T fadedt # Wt IR g
1. A=, B-Il, C-IIl, D-V
2. A-I| B-IV, CIl, D
3, A-l, B-Il, C-IV, D
4, A-1, B-1I, C-1V, DAl

Options :

6009643813. 1
6009643814. 2
6009643815. 3
6009643816. 4

Question Number : 55 Question Id : 600964955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Select the correct option for the one letter code for asparagine, an amino acid.

.N
2T
3.A
4.5

Options :

6009643817. 1
6009643818. 2
6009643819. 3
6009643820. 4

Question Number : 55 Question Id : 600964955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

URRTGIH, U S 3k, o foTu (e # ¥ U 38R &1 IS U

1.N

2.1

3 A

4.5
Options :
6009643817. 1
6009643818. 2

6009643819. 3
6009643820. 4
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Question Number : 56 Question Id : 600964956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match the structure of the bases in Column I with their names given in Column I1.

Column | Column Il
NH;
A. ﬂ” |\H | Uracil
(
i 7
H N
NH,
NN .
B. * |I. Adenine
N 0
H
I
C. \ﬂ\ J: lll. Cytosine
N 0
H
0
D. ‘ /[E V. Thymine
H 0 Page - 79



M N

Choose the correct answer from the options given below.

1. A-IV: B-lI; C-III; D-
2. A-l: B-Il: C-IlI: D-IV
3. A-lI: B-lII: C-IV: D-
4. A-IV: B-I: C-Il: D-NlI
Options :
6009643821. 1
6009643822. 2

6009643823. 3
6009643824. 4

Question Number : 56 Question Id : 600964956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Srad | ¥ 20 o R @ AvEsi &1 prem 0 ¥ Bv 39 i 4 fiar aifor

Flav | FI Il
NH;
xN Y | Rt
¢ ] )
H N
NH,
/gm - Page - 80




NH
o (.

NN

H

0

[RUEIEE!

I, Fraeife

v, i

- ey g fadet 1 9 gt o gL

1. AV, B-II, C-ll, D
2. A-1, B-1I, C-Il, D=1V
3. A-ll, B-III, G-IV, D
4, AV, B, CHI, DI

Options :

6009643821. 1
6009643822. 2
6009643823. 3
6009643824. 4

Question Number : 57 Question Id : 600964957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

The reactivity of the halides (RCI, RBr, RI) with aliphatic amines varies in the order

1.RCl > Rl > RBr
2.RBr>RCl > RI
3. Rl > RBr > RCl
4. Rl > RC| > RBr
Options :
6009643825. 1
6009643826. 2

6009643827. 3
6009643828. 4

Question Number : 57 Question Id : 600964957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Uferisfed afiTt o W §aS ST (RC), RBr, RI) 1 Wfohar o w1 ¥ waidt 7

1.RCl > Rl > RBr

2.RBr > RCl > RI
3.Rl > RBr > RCl
4. Rl > RC| > RBr

Options :

6009643825. 1
6009643826. 2
6009643827. 3

6009643828. 4
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Question Number : 58 Question Id : 600964958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The major product (Z) for the following organic reaction

CHO
P HNO/H,S0,
\F 273283 K
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|
NO,

CHO

ON NO,
R ¥

NO,

Options :

6009643829. 1
6009643830. 2
6009643831. 3
6009643832. 4

Question Number : 58 Question Id : 600964958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

wlad Afrfpar

CHO
HNOH,S0,
273283K
o fef T S (2) €
CHO
. N0,
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CHO

-

Mt

CHO
NO,
3
NO,
CHO
ON NO,
4,
NO,
Options :

6009643829. 1
6009643830. 2
6009643831. 3
6009643832. 4

Question Number : 59 Question Id : 600964959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The major product ‘A" for the given organic reaction

A

KMRO, - HpSO,

will be

ey

_~.__COOH

(U

“OH

“cook
4
_-COOH

Options :

6009643833. 1
6009643834. 2
6009643835. 3
6009643836. 4

OH

OH

Question Number : 59 Question Id : 600964959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

i & it e sefiicha o fo e S A g

U

0

¢
.

COOH

1.
2

3.
OH

COOH
4 COOH

Options :

6009643833. 1
6009643834. 2
6009643835. 3
6009643836. 4

KMnOy4 - S04
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Question Number : 60 Question Id : 600964960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What will be the major product ‘A’ for the given organic reaction?

CH4

| - Cu
HC—C—CHy —

OH 573K

Options :

6009643837. 1
6009643838. 2
6009643839. 3
6009643840. 4
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Question Number : 60 Question Id : 600964960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

< 1 Tl i TR 1 U A SG 1 g

CH,
|

OH

2 H;C—(:j—[}ig
OOH
CH;
3. HU—I;C—E:l—G-Ig
OH

Options :
6009643837. 1

—_—
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6009643838. 2
6009643839. 3
6009643840. 4

Question Number : 61 Question Id : 600964961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Consider the following compounds:

OH OH OH
|_ =) r y g r .- .
J Y] ) V- CHGCH,OH

CH NO,
The correct increasing order of the acid strength of the compounds will be

LI<l<ll<IV
IV <l <<l
1<Vl <l
4.V <<l <l

Options :

6009643841. 1
6009643842. 2
6009643843. 3
6009643844. 4

Question Number : 61 Question Id : 600964961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A fou MU T R R BT

OH

OH OH
- @ I [? . - . V- CHaCH,OH
CHs

NO,
Tl & sl Tl &1 9e Geal P ol

LI<l <<V
V<<«
31Vl <l
4V <<l <
Options :
6009643841. 1
6009643842. 2

6009643843. 3
6009643844. 4

Question Number : 62 Question Id : 600964962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What will be the major product ‘A" for the given organic reaction?

major product

. CHy
+ H JE,L
_~_ _-CHil
1 ‘ J
-/_,—\_\ g CHg
2. N
.
I
, CH,
- CHal
4I e

i,

S

Options :

6009643845. 1
6009643846. 2
6009643847. 3
6009643848. 4

Question Number : 62 Question Id : 600964962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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A 1 e el fvifchan 1 g Sag “A' 1 g
&
'
) Qé}'“’
foa
(J

CH;,l
4

Options :
6009643845. 1
6009643846. 2
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6009643847. 3
6009643848. 4

Question Number : 63 Question Id : 600964963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Consider the following compounds:

hm\ H Hy  Hg
| E? : Il H:C’ C C 'LCH__I
Hie C7
He  CHy r-;c't CH;

Which one of the following is correct?

1.1and Il are chira
2.1 and Il are achiral
3. lis chiral and Il is achiral

4.1is achiral and Il is chiral
Options :
6009643849. 1
6009643850. 2
6009643851. 3
6009643852 4

Question Number : 63 Question Id : 600964963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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o d g PH-aT g

113K 1 e ) &
213K 1 3fd¥a g

3,1 fo¥a & a1l aifdhva g
4, 3ffep¥a g T Il fka &

Options :

6009643849. 1
6009643850. 2
6009643851. 3
6009643852. 4

Question Number : 64 Question Id : 600964964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the following hydrocarbons is most acidic?

1. HC=CH

2.Hy(—C=CH

3Jt£=CH2

4, H;C—CE{:—CH}
Options :
6009643853. 1
6009643854. 2

6009643855. 3
6009643856. 4

Question Number : 64 Question Id : 600964964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A fed i greeirel # € PiH-a1 walfie sndin 2

1. HC=CH

2. Hy,(—C=CH

3.H2C=CHE

4, H;C—CEC—CH}
Options :
6009643853. 1
6009643854. 2

6009643855. 3
6009643856. 4
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Question Number : 65 Question Id : 600964965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For the given organic reaction

AN2TIK

CHy+ H,0 CO + 3H,

Als

1.PdO
2. Cu
3. Ni
4. Pb

Options :

6009643857. 1
6009643858. 2
6009643859. 3
6009643860. 4

Question Number : 65 Question Id : 600964965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Al &t et e aifiiohan & forg A T 67

AN2T3K

CH;‘* H;O CO + 3H:

1.PdO
2. Cu
3. Ni
4.Pb

Options :

6009643857. 1
6009643858. 2
6009643859. 3
6009643860. 4

Question Number : 66 Question Id : 600964966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The number of sigma (o) and pi (m) bonds present in the given compound will be

“CH,

1.260, 31
2240 4m
32403

42604
Options :
6009643861. 1
6009643862. 2
6009643863. 3
6009643864. 4

Question Number : 66 Question Id : 600964966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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[ARIIEIHES

L

H
L

0

H Ry (o) qun 18 () el ot wem gl

1.26 0,371
2.24 0,41
3.2 0,311
4.26 0,41

CH,

Options :

6009643861. 1
6009643862. 2
6009643863. 3
6009643864. 4

Question Number : 67 Question Id : 600964967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A mixture of phenol and aniline is an example of

1. ideal solution

2. non-ideal solution exhibiting positive deviation from Raoult's law
3. non-ideal solution exhibiting negative deviation from Raoult's law
4. minimum boiling azeotrope

Options :

6009643865. 1
6009643866. 2
6009643867. 3
6009643868. 4

Question Number : 67 Question Id : 600964967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fepetict 3R et o vy ffcifedt o el U gereul 67

1. 31e8 fder

2. 3 (109 ¥ 4RI faae <uIfd 530 U ol fae
3 I3 (1 U BV (49 Gl gl Ul 3G (e
4, T S gt [RRer

Options :

6009643865. 1
6009643866. 2
6009643867. 3
6009643868. 4
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Question Number : 68 Question Id : 600964968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The amount of CaCl, ( = 2.47) that must be dissolved in 3 litre of water such that its osmotic

pressure is 4.94 atm at 27 °C is

1, 2.405x 107 mol
2.0.243 mol
3.0.0267 mo
4.1.486 mo
Options :
6009643869. 1
6009643870. 2

6009643871. 3
6009643872. 4

Question Number : 68 Question Id : 600964968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
CaCl, (i = 2.47) P! g AN, ford 3 e s H M R 27 °C R RNV 3
494 atm g1 WG, il

1.2405x 107 Aid
2.0.243 A1
3,0,0267 Hicl
4.1.486 Al

Options :
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6009643869. 1
6009643870. 2
6009643871. 3
6009643872. 4

Question Number : 69 Question Id : 600964969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Real gases show nearly ideal behaviour at ;

1. low pressure and low temperature

2. high pressure and low temperature
3. high pressure and high temperature
4. low pressure and high temperature

Options :

6009643873. 1
6009643874. 2
6009643875. 3
6009643876. 4

Question Number : 69 Question Id : 600964969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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. g aE AR g aum
. 39 34 IR Y AU R
3, 3 46 3R o U R
4, Y 3d 3R FE IR

Options :

6009643873. 1
6009643874. 2
6009643875. 3
6009643876. 4

Question Number : 70 Question Id : 600964970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match the following physical constants in Column | to their correct units given in Column II:

Column | Columnll

A. Rate constant (k) of a second-order reaction| I. m*> mol ™

B. Cryoscopic constant, K Il mol "L s
C. van der Waals constant b III. No units
D. Compressibility factor Z V. kg K mol™

Choose the correct answer from the options given below:

1. A-ll; B-IV; C-; D-lll

2. A-lll; B-Iv; C-ll: DAl

3. A-ll; B-lll; C-IV; DAl

4. A-IV; B-I; C-II; DI
Options :

6009643877. 1
6009643878. 2
6009643879. 3
6009643880. 4

Question Number : 70 Question Id : 600964970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Fiam | 7 o M0 ifs Fudia! &1 frar sraw 1 # 500 596 7Ee] & 9 Sl

Hre | cared|
A. feidta dife srfiifehan &1 4 e (k) . m? mol™”
B, fewid i RRI® K Il.mol"Ls
C. IrEvaTed FHudia b Il SIS D Tl
D. Htigadl i Z V. kg K mol !

1. A-ll, B-1V, C-, DIl
2. A-lll, BV, C-lI, D
3. A-Il, B-~llI, C-IV, D-l
4. A-IV, B-I, C-II, DIl

Options :

6009643877. 1
6009643878. 2
6009643879. 3
6009643880. 4

Question Number : 71 Question Id : 600964971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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For the reaction of cyanamide NH,CN(g) with O, in a bomb calorimeter, AU was found to be -740
kJ/mol at 300 K. The enthalpy change for the reaction

NH,CN g +302g—>N2g +COy g +H, 0/l

will be

1. = 507.1 kJ/mol
2.-1987.1 kJ/mol
3.-738.75 kJ/mol
4. -741.2 kl/mol

Options :

6009643881. 1
6009643882. 2
6009643883. 3
6009643884. 4

Question Number : 71 Question Id : 600964971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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fobell aw cpaiedieR o WIIMIES NH,CN(g) @1 O, ¥ SHf¥ifeh o foTg, 4U &1 HM 300 K IR -740
kJ/mol TR AT 59 Hffehan & foru v uivad g

NH,CN(g)+ % 0,(g) = N,(g)+ C0,(g)+ H,0(1)

1. - 507.1 kJ/mol
2.-1987.1 kl/mol
3.-738.75 kl/mol
4.-741.2 kl/mol
Options :
6009643881. 1
6009643882. 2

6009643883. 3
6009643884. 4

Question Number : 72 Question Id : 600964972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The correct expression out of the following is

1.AU = AH + An,RT
2.C, = C, = R for 1 mole of a non-ideal gas

3. AS;peq; > 0 for a spontaneous process

A.G
4~Inh’=(L)

Options :

6009643885. 1
6009643886. 2
6009643887. 3
6009643888. 4

Question Number : 72 Question Id : 600964972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
R H § PH-91 T el 7

1.AU = AH + ﬂuﬂRT

2.0, - C, = R (& ez 79 1 AAF Y

3. 88,,,,; > 0 (4! W b & fo10)
A,G
4Ink = (—)
\RT
Options :

6009643885. 1
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6009643886. 2
6009643887. 3
6009643888. 4

Question Number : 73 Question Id : 600964973 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the equilibrium constant for a reaction ap + b8 === ¢C + dD IS K, then the equilibrium constant for
the reaction naA+nbB == neC+ndD will be equal to

4. nK,

Options :

6009643889. 1
6009643890. 2
6009643891. 3
6009643892. 4

Question Number : 73 Question Id : 600964973 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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e, 34231 aA + bB = ¢C + dD  foru | R K8, 79 s
naA + nbB = ncC + ndD & ot I FRRT® G-

I r‘tl K.
2.(k,)"

3 Ke

n
4. nK,

Options :

6009643889. 1
6009643890. 2
6009643891. 3
6009643892. 4

Question Number : 74 Question Id : 600964974 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The pH of a buffer solution formed by mixing 25 mL of 0.2M NH,Cl and 50 mL of 0.1M of NH;
solution at 25 °Ciis

(Given pK}, (NH5) = 4.75)

1.4.75
2. 445
3.5.05

4.9.25

Options :

6009643893. 1
6009643894. 2
6009643895. 3
6009643896. 4

Question Number : 74 Question Id : 600964974 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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25°C TR 0.2 M NH,Cl & 25 mL 3R 0.1M NH; e & 50 mL P1 e W &4 Tl a6 fdarad &1
pHEW:

(o1 T @ pK,, (NH3) = 475 ]

1.4.75
2.4.45
3.5.05
4.9.25

Options :

6009643893. 1
6009643894. 2
6009643895. 3
6009643896. 4

Question Number : 75 Question Id : 600964975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following salts will not give rise to an acidic solution when dissolved in water?

1. HCOONa
2.NH,Cl

3, NH:NO;
4, (NH,),S0,

Options :
6009643897. 1

6009643898. 2
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6009643899. 3
6009643900. 4

Question Number : 75 Question Id : 600964975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

$ fe 1 -8 v o H e R 3efig faoe @Y am

1. HCOONa
2. NH,Cl

3, NH,NO;
4, (NH),50,

Options :

6009643897. 1
6009643898. 2
6009643899. 3
6009643900. 4

Question Number : 76 Question Id : 600964976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In the reaction 2Cu,0(s) + Cu,S(s) - 6Cu(s) + $0,(g), species which acts as an oxidant is

1.0 (-1)

2.5(-1l)

3. Cu (I)

4. Cu (0)
Options :
6009643901. 1
6009643902. 2

6009643903. 3
6009643904. 4

Question Number : 76 Question Id : 600964976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1 Tt TR UG 20u,0(s) + Cu,S(s) = 6Cu(s) + 80, (g) # P1-41 T SfefioR
(STaTD) B Hifd F1 Bl 2

1.0 (-l
2.5 (-l
3.Cu )
4, Cu (0)

Options :
6009643901. 1
6009643902. 2
6009643903. 3
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6009643904. 4

Question Number : 77 Question Id : 600964977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

How much electricity in terms of Faraday is required to produce 20 g of Al from molten Al,05?

1.222F

2.222F

3.444F

4 111F
Options :
6009643905. 1
6009643906. 2

6009643907. 3
6009643908. 4

Question Number : 77 Question Id : 600964977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TITeTd Al,O5 ¥ 20 g Al 3 G o (10 Ul o Gl H el (959 @1 A1a=add gil?

1.222F

2.222F
3.444F
4.111F

Opti :
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6009643905. 1
6009643906. 2
6009643907. 3
6009643908. 4

Question Number : 78 Question Id : 600964978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The dispersal of a precipitated material into colloidal solution by the action of an electrolyte in
solution is called

1. coagulation

2. dialysis

3. peptization

4. ultrafiltration
Options :
6009643909. 1
6009643910. 2

6009643911. 3
6009643912. 4

Question Number : 78 Question Id : 600964978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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fouft ot # el Sqpd-sroaea o) b gyl e fawt o aradifid e & tReuw pgarar g

1. e

2. g

R HIGE!

4, I

Options :

6009643909. 1
6009643910. 2
6009643911. 3
6009643912. 4

Question Number : 79 Question Id : 600964979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Consider the following facts :

A. Copper solution can be stirred with a silver spoon

B. Zinc solution can be stirred with a silver spoon
C. Copper solution cannot be stored in a zinc pot
Based on the above facts, choose the correct order of the standard reduction potential of Cu**/Cu;

In?*/In and Ag*/Aqg.

1 E%ey > E'agtiag > E'mldt/ma
2 Eotiey < E'agting < E'ndt g
3. E%tiae > E'nutticy > Bty
4 E'ptepy > E'pidtiey > E'agt/ag

Options :

6009643913. 1
6009643914. 2
6009643915. 3
6009643916. 4

Question Number : 79 Question Id : 600964979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ERERILNGEREIRUR

A PR 000 W@ RieR 995 3 fadis] ofl 9o g

B. oid e &l Rieax = 7a ¥ faaisT of Iodi ¢

C. PIR fdereH P foieb & R # Wtfe el [l off b &1

TG qe1 3R W Cu?*/Cu; Zn?* /Zn TUT Ag* /Ag P AIF® 3T favdl &1 Fel oA 9

'1_ E'oiltjeu > Esgt/ag > %t 12n
2 Efolejey < Efpgtiag < E'ngdt
3. E'ntag > Flo*you > E'zatya
4 Bt > Efettion > E'ag*ag

Options :

6009643913. 1
6009643914. 2
6009643915. 3
6009643916. 4

Question Number : 80 Question Id : 600964980 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following statements about a catalyst is incorrect?

1. A catalyst cannot catalyse a non-spontaneous reaction.

2. A catalyst provides an alternate pathway to the reaction by reducing the activation energy.

3. A catalyst alters the thermodynamic parameters like AG of a reaction.
4. A catalyst helps to attain equilibrium faster but does not change the equilibrium constant.

Options :

6009643917. 1
6009643918. 2
6009643919. 3
6009643920. 4

Question Number : 80 Question Id : 600964980 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

ot TR & fawa o e fear mar - o U TR 67

1. D15 GARD [HU! Wa: Tel g dTelt AT I JAIRT Tel X Gl

2. PIS IR TiHW Foll I HA X HfHl F1 I TP U Ve Xl ¢

3, PIS JARS [Hal AT P AG o HMNTIGDY Ul (FHSS!) B U ol ol

4, I IIRD ARIGRI A # Forel el ¢, 1R-d T RRI B! uafdld 81 e ¢l

Options :

6009643917. 1
6009643918. 2
6009643919. 3
6009643920. 4
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Question Number : 81 Question Id : 600964981 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For a reaction with activation energy 210 kJ/mol at 300 K, the fraction of molecules having energy
equal to or greater than the activation energy is

1. 2.303 log(-84.19)
210745
3. exp(-84.19)

4.n(-8526.18)

Options :

6009643921. 1
6009643922. 2
6009643923. 3
6009643924. 4

Question Number : 81 Question Id : 600964981 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

300 K TR 210 kJ/mol el It areil fash aif¥ifehan o forw qujaff &1 ag 4, foria! Sl fram

Ful & SRR A1 3 gl ¢, g
1. 2.303 log(-84.19)

21078419

3. exp(-84.19)

4. In(-8526.18)

Options :
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6009643921. 1
6009643922. 2
6009643923. 3
6009643924. 4

Question Number : 82 Question Id : 600964982 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A sol of hydrated ferric oxide prepared by adding FeCl; to excess of hot water is

1. positively charged due to the adsorption of H' ions
2. negatively charged due to the adsorption of OH ions
3, positively charged due to the adsorption of Fe** ions
4, positively charged due to the adsorption of Fe** ions
Options :
6009643925. 1
6009643926. 2

6009643927. 3
6009643928. 4

Question Number : 82 Question Id : 600964982 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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T 1 o 11 ¥ FeCl, FeTa &1 T Sieiford BR® s A
Rl g
1. H* 1T o SIS & HR G Hdfrd
2. OH™ 3R o SIS0 & BRI BT S1afre
3, Fe3* S & SHYINU & HRYT & SR
4, Fe2* 3l o TN o HRU[ ¢+ ST
Options :
6009643925. 1
6009643926. 2

6009643927. 3
6009643928. 4

Question Number : 83 Question Id : 600964983 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Density of 2 M solution of NaCl is 1.25 g mL™". The molality of the solution is

1.279m

2143 m
3.1.76m
4.166m

Options :

6009643929.
6009643930.
6009643931.
6009643932.

AW N~
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Question Number : 83 Question Id : 600964983 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
NaCl & 2 M faee &1 99 1.25 g mL— 1 39 9 o dieiara ¢

1.279m
2.143m
3.1.76m
4,1.66m
Options :
6009643929. 1
6009643930. 2

6009643931. 3
6009643932. 4

Question Number : 84 Question Id : 600964984 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

On the basis of magnetic property, magnetite is classified as

1. ferromagnetism

2. ferrimagnetism

3. antiferromagnetism

4. diamagnetism
Options :

6009643933. 1
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6009643934. 2
6009643935. 3
6009643936. 4

Question Number : 84 Question Id : 600964984 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TGO I & YR TR ACTEe BT B Hyiarad # ¢ oo & 7 fos o 67

1. 'L‘q.aﬂlaﬁﬂ
. T diggdd (higada)

3, Yfd-alggHdd
4, Uigrdd

Options :

6009643933. 1
6009643934, 2
6009643935. 3
6009643936. 4

Question Number : 85 Question Id : 600964985 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Energy of radiation in eV for | = 300 nm (1 eV = 1.6020 x 107 )} is

1.398 eV

2.325¢eV
3.2.68 eV

4.414¢eV

Options :

6009643937. 1
6009643938. 2
6009643939. 3
6009643940. 4

Question Number : 85 Question Id : 600964985 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

\ = 300 nm @ o1 eV H fafdsurf @t Suif Gl € (1 eV = 1.6020 x 10°79))

1.398 eV
2.325¢eV
3.268 eV
4414V

Options :

6009643937. 1
6009643938. 2
6009643939. 3
6009643940. 4
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Question Number : 86 Question Id : 600964986 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match the scientists in Column | with the concept/discovery associated with them given in Column
I

Column | Column I
A. Johann Dobereiner | |. Krypton and Xenon
B. Ramsay | |l. Law of Octave
C. Peter Debye I Law of Triads
D. John Alexander Newlandl V. X-ray diffraction

Choose the correct answer from the options given below:

1. A-l, B-II, C-III, D-IV
2. A-lll, B-1, C-IV, D-Il
3. A-l, B-III, C-IV, D-Il
4. A-Ill, B-I, C-II, D-IV

Options :

6009643941. 1
6009643942. 2
6009643943. 3
6009643944. 4

Question Number : 86 Question Id : 600964986 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Fiaw | 1 v o g &1 g vem 11 4 & et R diag GiolAhed § Sifoe

FIaH | I Il

A, TG SIaER . foppa 3R o
B. W I, 35 I
C. dleX sarg 11, B 1
D. W 3R dAvS IV, X-fobu faad

A feu o faged 4 @ wdt g v

1. A=), B-II, C-IIl, D-IV

2. All, B, C-IV, DI

3, A-l, B-Ill, C-IV, D-I

4. All, B, C-II, DAV

Options :

6009643941. 1
6009643942. 2
6009643943. 3
6009643944. 4

Question Number : 87 Question Id : 600964987 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The bond order and magnetic behaviour of C; molecule is

1. 3 and paramagnetic

2.2 and paramagnetic
3. 3 and diamagnetic
4. 2 and diamagnetic

Options :

6009643945. 1
6009643946. 2
6009643947. 3
6009643948. 4

Question Number : 87 Question Id : 600964987 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

C, 3V 3T 6 ¥ YT THI GER Gl & -

Options :

6009643945. 1
6009643946. 2
6009643947. 3
6009643948. 4
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Question Number : 88 Question Id : 600964988 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The bond dissociation enthalpy for a single bond between two atoms is highest for

1. F-F

2. H-H

3. Cl-Cl

4, Br-Br
Options :
6009643949. 1
6009643950. 2

6009643951. 3
6009643952. 4

Question Number : 88 Question Id : 600964988 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

<l 3Rt & ot U e 3 foru Faferfea 7 2 o forg oy faaiom TRl Seaam gt &7

1. F-F

2. H-H
3. CI-Cl
4. Br-Br

Options :
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6009643949. 1
6009643950. 2
6009643951. 3
6009643952. 4

Question Number : 89 Question Id : 600964989 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

On heating, lithium nitrate gives

1. LINO,
2.Li;,0+NO; + 0,
3. LiINO; + Li
4.Li + NO;

Options :

6009643953. 1
6009643954. 2
6009643955. 3
6009643956. 4

Question Number : 89 Question Id : 600964989 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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T &% R AgH 5ee ol 6 -

1. LINO,
2.1i;,0+NO, + 0,
3,LiNO; + Li
4.Li + NO;

Options :

6009643953. 1
6009643954. 2
6009643955. 3
6009643956. 4

Question Number : 90 Question Id : 600964990 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
When borax is heated with CoO in a Bunsen burner flame on a loop of platinum wire, a blue

coloured bead is formed. The bead is of

1.CoBO,
A (D(BC‘;];
3, Co(BO1);
4, Co(BO,),

Options :
6009643957. 1
6009643958. 2 Page - 133



6009643959. 3
6009643960. 4

Question Number : 90 Question Id : 600964990 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o e o R b UITH CoO I SR 1Y G &R 1 wd1ell # ad fob1 i g, ol 0 el v
&l HforeT (d412) §d ¢ | AT gl 8, 9 6

1. CoBO,
2. Co(BOy)s
3. CD{BD;]Q
4. Co(BO),
Options :
6009643957. 1
6009643958. 2

6009643959. 3
6009643960. 4

Question Number : 91 Question Id : 600964991 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following is an amphoteric oxide?

1.€O,

)50,

3.GeO,

4. PbO,
Options :
6009643961. 1
6009643962. 2

6009643963. 3
6009643964. 4

Question Number : 91 Question Id : 600964991 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fofufad & oF-a gvayd aiamss &

1.C0;
2.5i0,

3,GeO,
4, PbO,

Options :

6009643961. 1
6009643962. 2
6009643963. 3
6009643964. 4
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Question Number : 92 Question Id : 600964992 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Zone refining method is used to purify

1. boron

2. barium

3. sodium

4. magnesium

Options :

6009643965. 1
6009643966. 2
6009643967. 3
6009643968. 4

Question Number : 92 Question Id : 600964992 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

AUsd USR] (i Rersfm fafty o suam fafafed o 1 foae Ty &3 & fou fea o g2

1, §RH

2. §iaH
3. i
4, Tfiferm

Options :
6009643965. 1
6009643966. 2
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6009643967. 3
6009643968. 4

Question Number : 93 Question Id : 600964993 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Following resonating structures for nitrogen () oxide are suggested

A N=N=¢
&Zé—N:@
C. N=N-O:
0. 0=N-0

Which of them is/are correct?

1.Aand C
2.Only A
3.Aand B

4.CandD
Options :

6009643969. 1
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6009643970. 2
6009643971. 3
6009643972. 4

Question Number : 93 Question Id : 600964993 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

geTo (1) iTgs & o g SAIfea TRl wRafda & :

TR H 8 - 9 o/

1LARC
2. $dd A
3. ANB
4.CHRD

Options :
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6009643969. 1
6009643970. 2
6009643971. 3
6009643972. 4

Question Number : 94 Question Id : 600964994 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

How many @ and 1 bonds are present in peroxodisulphuric acid?

1.100,4m
211041
3100, 3m
4110 3n

Options :

6009643973. 1
6009643974. 2
6009643975. 3
6009643976. 4

Question Number : 94 Question Id : 600964994 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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.10¢ 47
1Mo dn
3100 3w
d1Meirn
Options :
6009643973. 1
6009643974. 2

6009643975. 3
6009643976. 4

Question Number : 95 Question Id : 600964995 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If X and Xare halogens, select the correct option for the general formula of their perhalate,
hypohalite, halite and halate respectively.

1 XX, X0, XX'3, XX's
20K, XX7, XX'3, XX's
3 XX, XX'3, XX's, XX 7
4 XX's, XX7, XX, X3

Options :

6009643977. 1
6009643978. 2
6009643979. 3

6009643980. 4
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Question Number : 95 Question Id : 600964995 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Tfe X 3R X' gallor ¢, al HAR: 370 Wedle, TRUleaNse, saise AR guic & G I &1 Tg! [ode

X5, X0, XX'3, XXs
2. XX, XX'7, X3, XX's
3 XK, XX'3, XX's, XX7
4 XX's, XX'7, XX, XX'3

Options :

6009643977. 1
6009643978. 2
6009643979. 3
6009643980. 4

Question Number : 96 Question Id : 600964996 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of following group 18 elements does not form fluoride?

1. He
2 Xe
3. Kr

4. Rn
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Options :

6009643981. 1
6009643982. 2
6009643983. 3
6009643984. 4

Question Number : 96 Question Id : 600964996 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TG 18 BT -1 d WARISS Tel 711 7

1. He
2. Xe
3. Kr
4.Rn

Options :

6009643981. 1
6009643982. 2
6009643983. 3
6009643984. 4

Question Number : 97 Question Id : 600964997 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following matches between the process and the catalyst used is incorrect?

1. Contact process -V50¢

2. Haber's process - Mo
3. Catalytic hydrogenation - Ni
4, Stephen reaction - SnCl

Options :

6009643985. 1
6009643986. 2
6009643987. 3
6009643988. 4

Question Number : 97 Question Id : 600964997 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fferi | € 4T U s 3R S8 TG Bl a SR o T1erd el i 9

1, e T H-V,0s
2 YR UHH- Mo

3, JARD! GIGGIAIRT - Ni
4. %W HfHfH I - SnCly

Options :

6009643985. 1
6009643986. 2
6009643987. 3
6009643988. 4
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Question Number : 98 Question Id : 600964998 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is correct?

1. Ce** is a strong reductant
2. Eu?* s a strong oxidant.
3. Yb?* is a reductant.

4, Tb* is a reductant.

Options :

6009643989. 1
6009643990. 2
6009643991. 3
6009643992. 4

Question Number : 98 Question Id : 600964998 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fogfafdd & & BH-1 B4 Tl 67

1, Ce** U% Uqq TP &

2. Eu?* & ad Gllq‘?liﬁ ?

3, Vbl*wa{uaw%‘_s

4. Tb* U6 U ¢
Options :

6009643989. 1

6009643990. 2
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6009643991. 3
6009643992. 4

Question Number : 99 Question Id : 600964999 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

You are given the following complexes :

[MnClg)?, [FeFg* and [CoFg*

The number of unpaired electrons respectively will be (consider these complexes as high spin
complexes)

1.5,4,4
2. 4,45
3.4,54
4.5,4,5

Options :

6009643993. 1
6009643994 2
6009643995. 3
6009643996. 4

Question Number : 99 Question Id : 600964999 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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IH o Tt o T &
[MnClgJ?, [FeFel>* 3R [CoFgl*

1.5,4,4
24,45
3.4,5,4
4545

Options :

6009643993. 1
6009643994. 2
6009643995. 3
6009643996. 4

Question Number : 100 Question Id : 6009641000 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

d-orbital splitting in an octahedral crystal field is

04

0.4) A; below barycentre and (0.6) 4; above barycentre
0.4) A; above barycentre and (0.6) A; below barycentre

1.(0.4) A, above barycentre and (0.6) A, below barycentre
2.(0.4)
3. (0.
4.(04) A, below barycentre and (0.6) A, above barycentre
Options :

6009643997. 1 Page - 146



6009643998. 2
6009643999. 3
6009644000. 4

Question Number : 100 Question Id : 6009641000 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

TP APHADY e 87 H d-Hed [ ¢ -

1.(0.4) A, 50 & FW 3R (0.6) A, 5 & I
2.(04) b 55 & A 3R (0.6) A 5P & IR
3,(04) & B5H & HW AR (0.6) A s & I
4, (0.4) A, B5® & 11 3R (0.6) A, 5P & W

Options :

6009643997. 1
6009643998. 2
6009643999. 3
6009644000. 4

Part C Biology
Section Id : 60096421
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
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Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 60096421
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 6009641001 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A scorpion stalks, kills and then eats a spider. Based on its behavior, which ecological terms describe
the scarpion?

1. Producer, herbivore and decomposer
2. Producer, carnivore and heterotroph
3. Predator, carnivore and consumer
4. Predator, autotroph and herbivore

Options :

6009644001. 1
6009644002. 2
6009644003. 3
6009644004. 4

Question Number : 101 Question Id : 6009641001 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. JIG, APIGR], HTHChH

3, IR, WGER], FUHiT

Options :

6009644001. 1
6009644002. 2
6009644003. 3
6009644004. 4

Question Number : 102 Question Id : 6009641002 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Poison glands of snakes are homologous to

1. Sebaceous glands of mammals

2. Electric organs of fishes
3. Salivary glands of vertebrates
4. Stings of ray

Options :

6009644005. 1
6009644006. 2
6009644007. 3
6009644008. 4
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Question Number : 102 Question Id : 6009641002 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
4 ! fawiil g & weu ¢

1. T i e MY & gHH
2. W fer] & el 3T &
3, BIOIHY Bl TR I F JAH
ARG

Options :

6009644005. 1

6009644006. 2

6009644007. 3
6009644008. 4

Question Number : 103 Question Id : 6009641003 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Arrange the following vertebrae in correct sequence

A. Thoracic
B. Lumbar
C. Caudal
D. Cenvical
E. Sacral

Choose the correct answer from the options given below

1. D-A-B-E-C
2. A=B=D-E-C
3. D-B-E-C-A
4. A=E-B-D-C

Options :

6009644009. 1
6009644010. 2
6009644011. 3
6009644012. 4

Question Number : 103 Question Id : 6009641003 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. D-A-B-E=C
2. A=B-D-E=C
3. D-B-E-C-A
4, A-E-B=D=C

Options :

6009644009. 1
6009644010. 2
6009644011. 3
6009644012. 4

Question Number : 104 Question Id : 6009641004 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Living organisms

A. Their growth is from outside

B. Their reproduction is affected by photoperiod

C. Consciousness is the defining property for them

D. Growth and reproduction are mutually exclusive events in them
Choose the correct answer from the options given below:

1.Aand B only
2.Band Cand D only
3. Aand B and Conly

4. All of them

Options :

6009644013. 1
6009644014. 2
6009644015. 3
6009644016. 4

Question Number : 104 Question Id : 6009641004 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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C.  dc1 U g8 aem

D. i qu1 yeH U ffdare dem &
A fe o ot 4 & ) IR

1,§}ﬁa ATUTB
2. % B, CqUID
3. Bdd A B qUIC

4, 37 At

Options :

6009644013. 1
6009644014. 2
6009644015. 3
6009644016. 4

Question Number : 105 Question Id : 6009641005 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 154



Given below are two statements

Statement | : Energy flow is greatly reduced at each successive trophic level from producers to
herbivores and then carnivores.

Statement Il : The pyramid of energy is both top right and inverted.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both statement | and statement |l are true
2. Both statement | and statement || are false

3. Statement | is correct but statement Il is false
4, Statement | is incorrect but statement || is true

Options :

6009644017. 1
6009644018. 2
6009644019. 3
6009644020. 4

Question Number : 105 Question Id : 6009641005 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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2. T -] T Bl 3§

3, 5| G § Wlfch HU-Il 3 &
4, FUT-| I § il -1l T B

Options :

6009644017. 1
6009644018. 2
6009644019. 3
6009644020. 4

Question Number : 106 Question Id : 6009641006 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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When a cell absorbs energy from the environment, the reaction is

1. ADP + AMP = ATP
2. ATP = AMP + P + Pi

3. ADP + Pi = ATP
4. ATP = ADP - Pi
Options :

6009644021. 1
6009644022. 2
6009644023. 3
6009644024. 4

Question Number : 106 Question Id : 6009641006 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TRV 8 IR GRSl Tg0 e W Fgfaiad aHis il ¢

1. ADP + AMP = ATP
2. ATP = AMP + P + Pi

3. ADP + Pj = ATP
4, ATP = ADP - Pi
Options :

6009644021. 1
6009644022. 2
6009644023. 3

6009644024. 4
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Question Number : 107 Question Id : 6009641007 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
One day you wake up with a sore throat and a runny nose. Your doctor takes a swab from your
throat, sends it to a lab, and telephones you the next day to say that antibiotic will not help you to
get better. Which of the following is most likely reason for the doctors statement?

1. Having waited a day, it is too late to take an antibiotic
2. You need an antiseptic not an antibiotic
3. You need to be vaccinated instead of taking an antibiotic
4. You are infected by a virus
Options :
6009644025. 1
6009644026. 2

6009644027. 3
6009644028. 4

Question Number : 107 Question Id : 6009641007 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. 0 {67 & 00R 9 Clamifed o 4 R el

2. I TCIAPI I TG ¢ b Ceamfeds ol
3, 0! (e s & wH R dRiHTHE 3 Sawdd o
4, 310 U faSI0] & epfirel ¢

Options :

6009644025. 1
6009644026. 2
6009644027. 3
6009644028. 4

Question Number : 108 Question Id : 6009641008 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Fluid mosaic model of plasma membrane explains

1. The structural aspects only

2. The cellular aspects only

3. The functional aspects only

4. Both structural and functional aspects

Options :

6009644029. 1
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6009644030. 2
6009644031. 3
6009644032. 4

Question Number : 108 Question Id : 6009641008 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o s B Tge A Aied’ Y Wy a¥dl ¢

. Hq IS 4T
) e HIFYBT HIT
3, Haq ST HIT

4, WGSBS T I

Options :

6009644029. 1
6009644030. 2
6009644031. 3
6009644032. 4

Question Number : 109 Question Id : 6009641009 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following is not a function of liver in vertebrates?

1. Storage of bile juice

2. Uptake and excretion of bilirubin
3. Production of bile juice
4, Formation of urea from carbon dioxide and ammonia

Options :

6009644033. 1
6009644034. 2
6009644035. 3
6009644036. 4

Question Number : 109 Question Id : 6009641009 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HReHI o] H qGd (9 B T8l el §

1, 9150 39 &1 435

2. QfCrRfsH &1 Sfamisuy a1 Jedfoid
3, 91501 X4 Bl 3G

4. co, U1 ST ¥ AT BT Iered

Options :

6009644033. 1
6009644034. 2
6009644035. 3
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6009644036. 4

Question Number : 110 Question Id : 6009641010 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Cyanobacteria

A. are also referred as blue green algae

B. lack cell wall
C. fix atmospheric nitrogen

D. lack chlorophyli

Choose the correct answer from the options given below:

1.Aand B only
2.Cand D only
3. Aand Conly

4. D and B only
Options :
6009644037. 1
6009644038. 2
6009644039. 3
6009644040. 4

Question Number : 110 Question Id : 6009641010 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 Page - 162
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1. had AdYlB
2.hdq CaUID
3, Baq A Ul C
4, %aq D YT B

Options :

6009644037. 1
6009644038. 2
6009644039. 3
6009644040. 4

Question Number : 111 Question Id : 6009641011 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In 1953 Muller created primitive earth conditions in the laboratory and gave experimental evidence
for origin of first form of life from pre-existing non-living organic molecules. The primitive conditions
created include

1. High temperature, volcanic storms and non-reducing atmosphere
2. High temperature, volcanic storms and reducing atmosphere
3. Low temperature, volcanic storms and oxygen rich atmosphere
4. Low temperature, volcanic storms and reducing atmosphere
Options :
6009644041. 1
6009644042 2

6009644043. 3
6009644044. 4

Question Number : 111 Question Id : 6009641011 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1953 T TR ARTRITen 5 forf 3fe gl 1 afaweiafl 1 Wi o ofia &1 S &l gd ¥ R Folla
Rt / el b (Y01 2 T o STl oG e

1. 3ed dI9HM, SaIaHEg 6, HidieRS daHsd
2. 3 P, ST T, S oRE s

3, % TUnE, SarE B, SRieR dgHed
4. 1 AI0HH, SaImE QEH, SHIdIERS dgHsd

Options :
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6009644041. 1
6009644042. 2
6009644043. 3
6009644044. 4

Question Number : 112 Question Id : 6009641012 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is correct for Angiosperms?

1. The main plant body is gametophyte and sporophyte generation is reduced
2. The main plant body is sporophyte and the gametophyte generation is altogether absent
3. Only ovules represent the gametophyte whereas, other plant parts represent sporophyte
4. The main plant body is a sporophyte and the male and female gametophytes are represented by
pollen grains and embryo sac respectively
Options :
6009644045. 1
6009644046. 2

6009644047. 3
6009644048. 4

Question Number : 112 Question Id : 6009641012 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009644045. 1
6009644046. 2
6009644047. 3
6009644048. 4

Question Number : 113 Question Id : 6009641013 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Gram positive bacteria

A. Have thick and homogenous cell wall

B. Have as much as 90% peptidoglycan

C. Have cytoplasmic lipid membrane

D. Have much thinner peptidoglycan layer sandwiched between inner and outer membrane

E. Have S-layer attached directly to the outer peptidoglycan layer

Choose the correct answer from the options given below:

1.Aand B and Cand E only

2. AandBand D and E only
3.Aand Cand D and E only
4. Aonly

Options :

6009644049. 1
6009644050. 2
6009644051. 3
6009644052. 4

Question Number : 113 Question Id : 6009641013 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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2. %dd A B, D AUIE
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4. $aq A

Options :

6009644049. 1

6009644050. 2

6009644051. 3
6009644052. 4

Question Number : 114 Question Id : 6009641014 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Find out the correct sequence of lac operon

A Requlator
B. Structural

C.  Operator
D.  Promotor

Choose the correct answer from the options given below

1.A=D-C-B
2. A-C-D-B
3. D=C-B-A
4, B=D=C-A
Options :
6009644053. 1
6009644054. 2

6009644055. 3
6009644056. 4

Question Number : 114 Question Id : 6009641014 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1.A-D-C-B
2. A-C-D-B
3.0-C-B-A
4.B-D-C-=A

Options :

6009644053. 1
6009644054. 2
6009644055. 3
6009644056. 4

Question Number : 115 Question Id : 6009641015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A typical angiosperm embryo sac at maturity is

1. 7 nucleate and 8 celled

2. 8 nucleate and 8 celled
3. 7 nucleate and 7 celled
4. 8 nucleate and 7 celled
Options :
6009644057 1
6009644058. 2

6009644059. 3
6009644060. 4

Question Number : 115 Question Id : 6009641015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T O foa W 0@ Cforiea v 3 o aemn i @
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Options :

6009644057. 1
6009644058. 2
6009644059. 3
6009644060. 4
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Question Number : 116 Question Id : 6009641016 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement | : Inbreeding helps in the accumulation of superior genes.
Statement Il : Inbreeding decreases homozygosity

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both statement | and statement || are true

2. Both statement | and statement Il are false

3. Statement | is correct but statement Il is false
4. Statement | is incorrect but statement Il is true

Options :

6009644061. 1
6009644062. 2
6009644063. 3
6009644064. 4

Question Number : 116 Question Id : 6009641016 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009644061. 1
6009644062. 2
6009644063. 3
60096440064. 4

Question Number : 117 Question Id : 6009641017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Find out the correct sequence of hydrarch succession
A, Phytoplankton

B. Rooted hydrophytes

C.  Meadows

D.  Floating hydrophytes
E.  Sedges

Choose the correct answer from the options given below

1. A-B-C-D-E
2. A=B=D=E=C
3.C-B-E-D-A
4.C-A-D-E-B

Options :

6009644065. 1
6009644066. 2
6009644067. 3
6009644068. 4

Question Number : 117 Question Id : 6009641017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 174



B. WISy waUIgy

C. fiem

D. Rdwucy

E g

I feu T fadedl # 9 w6t S

1.A=B-C-D=E
2. A=B=D=E=C
3. C-B-E-D-A
4,C-A-D-E-B

Options :

6009644065. 1
6009644066. 2
6009644067 3
6009644068. 4

Question Number : 118 Question Id : 6009641018 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following cannot be explained on the basis of Mendel's law of dominance

1. Discrete unit controlling a particular character is called a factor
2. Factors occur in pairs
3. Alleles do not show any blending
4. Out of one pair of factors one is dominant and other recessive
Options :
6009644069. 1
6009644070. 2

6009644071. 3
6009644072. 4

Question Number : 118 Question Id : 6009641018 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o 7 @ A & WA & Rl & SR W &y 78] b o 9 €

1. sl 701 1 A0 e el e 1 e () gl TN
2. e ! ¥ e §

3, Qlld IS T et 71 3 ¢ H
4, el & e H U YTt dur o St (Vefra) dear

Options :

60096440609. 1
6009644070. 2
6009644071. 3
6009644072. 4
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Question Number : 119 Question Id : 6009641019 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Streptokinase enzyme produced by Streptococcus bacteria is used

1. As an immunosuppressive agent

2. As a clot buster
3. As blood cholesterol lowering agent

4. As an antidepressant

Options :

6009644073. 1
6009644074. 2
6009644075. 3
6009644076. 4

Question Number : 119 Question Id : 6009641019 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

CPIPIGH SacING R Sl LPbIgul ColgH o Jai g &9 H gl

1. SN O & © U H
2. Tl 44 () & T H
3. 30 Y I TR A & RS & ©UH
4, TIfSuE & ® 0 H
Options :

6009644073. 1
6009644074. 2 Page - 177




6009644075. 3
6009644076. 4

Question Number : 120 Question Id : 6009641020 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement | : Distal convoluted tubule of kidney is capable of reabsorbing HCO;.

Statement Il : Only 10% of the glomerular filtrate is reabsorbed by the renal tubules.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both statement | and statement || are true
2. Both statement | and statement || are false
3. Statement | is correct but statement Il is false

4. Statement | is incorrect but statement Il is true

Options :

6009644077. 1
6009644078. 2
6009644079. 3
6009644080. 4

Question Number : 120 Question Id : 6009641020 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
6009644077. 1
6009644078. 2

6009644079. 3
6009644080. 4

Question Number : 121 Question Id : 6009641021 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following statement(s) is/are correct about pollination?

A. Wind pollinated flowers have a single ovule in each ovary

B. Both wind and water pollinated flowers do not produce nectar

C. Bees are the dominant biotic pollinating agents

D. In geitonogamy transfer of pollen grains from anther to the stigma of another flower of different
plant takes place

Choose the correct answer from the options given below:

1. Aonly

2.B only
3. Aand B and Conly
4.8 and D only

Options :

6009644081. 1
6009644082. 2
6009644083. 3
6009644084. 4

Question Number : 121 Question Id : 6009641021 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009644081. 1
6009644082. 2
6009644083. 3
6009644084. 4

Question Number : 122 Question Id : 6009641022 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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An enzyme devoid of its either prosthetic group or co-enzyme is designated as

1. Substrate

2. Holoenzyme
3. Apoenzyme
4, Co-enzyme

Options :

6009644085. 1
6009644086. 2
6009644087. 3
6009644088. 4

Question Number : 122 Question Id : 6009641022 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Tielfed Tug O1 $1-UagH & 341G § Clgh &I Y 19 ¥ S oiidl ¢
1, 9eice
2 EET-M H
3. UUI-GiTgH
4, BI-TIEH
Options :
6009644085. 1
6009644086. 2

6009644087. 3
6009644088. 4
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Question Number : 123 Question Id : 6009641023 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List I with List Il

List | List Il
A. Blood |. Adipose tissue
B. Glial cells II. Connective tissue

C. Air sacs and lungs | lll. Nervous tissue

D. Skin IV. Squamous epithelium

Choose the correct answer from the options given below:

1. A-lll; B-1; C-IV; D-II

2. A-ll; B-II; C-IV; D-I

3. A-ll; B-Ill: C-I: D-IV

4. A-lll; B-I; C-II; D-IV
Options :

6009644089. 1
6009644090. 2
6009644091. 3
6009644092. 4

Question Number : 123 Question Id : 6009641023 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. A-lll; B-I; C-IV; D-l
2. A-ll: B-IlI: C-IV: D-|
3. A-ll: B-III: C-I: D-IV
4. A-lll; B-I; C-II; D-IV
Options :
6009644089. 1
6009644090. 2

6009644091. 3
6009644092. 4

Question Number : 124 Question Id : 6009641024 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Arrange the phases of cell cycle in correct sequence

A G,
B. G
C S
D. M

Choose the correct answer from the options given below

1.A-B-C-D
2. D-B-C-A
3. A-=C-B-=D
4,D-C-B-A

Options :

6009644093. 1
6009644094. 2
6009644095. 3
6009644096. 4

Question Number : 124 Question Id : 6009641024 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1.A-B-C-D
2. D-B-C-A
3. A-C-B-=D
4.D-C-B-A

Options :

6009644093. 1
6009644094. 2
6009644095. 3
6009644096. 4

Question Number : 125 Question Id : 6009641025 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Choose the right combination for innate immunity

1. Mucus - physiological barrier

2. Acid in the stomach - physiological barrier
3. Neutrophils - cytokine barrier
4. Interferons - physiological barrier
Options :
6009644097. 1
6009644098. 2

6009644099. 3
6009644100. 4

Question Number : 125 Question Id : 6009641025 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

SR WISl & 6 H ol GG 1 909 P -

1. &Y BT a4l
2. ¢ 1 fFi—bIdIy a1l
3, el e —argelbig ae
4, SRR I—PIDI 11
Options :
6009644097. 1
6009644098. 2

6009644099. 3
6009644100. 4

Page - 187



Question Number : 126 Question Id : 6009641026 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Complete cambium ring after becoming active, cut off into

1. Both xylem and phloem towards outside
2. Both xylem and phloem towards inside

3. Xylem towards inside and phloem towards outside
4. Xylem towards outside and phloem towards inside

Options :

6009644101. 1
6009644102. 2
6009644103. 3
6009644104. 4

Question Number : 126 Question Id : 6009641026 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ol o e e Wfohd B & ST Y Bl e il ¢
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2, SIS 4T RiIgH G 1 32 1 3R
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4, S50 S16% a1 Tellgh 3 df 3R
Options :

6009644101. 1
6009644102. 2

Page - 188



6009644103. 3
6009644104. 4

Question Number : 127 Question Id : 6009641027 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following type of RNA is most essential for the process of protein synthesis?

1. t-RNA
2. 1-RNA
3. m-RNA

4. f-RNA

Options :

6009644105. 1
6009644106. 2
6009644107. 3
6009644108. 4

Question Number : 127 Question Id : 6009641027 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
PRI el 3 e 7 TR 1 RNA 31 S99

1. t-RNA
2. r-RNA
3. m-RNA
4. f-RNA
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Options :

6009644105. 1
6009644106. 2
6009644107. 3
6009644108. 4

Question Number : 128 Question Id : 6009641028 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Four children of a couple show four different blood groups A, B, AB and O. The probable genotype

of the parents are

A0 1B
1. 1719 and IB|B
2 1A and B8
3. 419 and B|°
4,17 Band1°1°
Options :
60096441009. 1
6009644110. 2

6009644111. 3
6009644112. 4

Question Number : 128 Question Id : 6009641028 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009644109. 1
6009644110. 2
6009644111. 3
6009644112. 4

Question Number : 129 Question Id : 6009641029 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il
A. Wild ass |. Nilgiri and Cardamom hills
B. Hangul II. Rann of Kutch

C. Lion tailed macaque |Ill. Rajasthan
D. Great Indian bustard | IV. Dachigam

Choose the correct answer from the options given below:

1. A-IV; B-lI; C-11I; D-1
2. A-ll; B-IV; C-I; D-lll
3. A-l; B-lll; C-IV; D-I
4, A-l; B-II; C-lIl; D-IV
Options :
6009644113. 1
6009644114. 2

6009644115. 3
6009644116. 4

Question Number : 129 Question Id : 6009641029 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. A-IV: B-II; C-IIf; D-I
2. A-Il: B-IV: C-I: DIl
3, A-ll: B-Ill; C-IV: DI
4. A-l; B-II; C-IIT; D-IV
Options :

6009644113. 1
6009644114. 2
6009644115. 3
6009644116. 4

Question Number : 130 Question Id : 6009641030 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Restriction enzymes

A. cut the strands of DNA a little away from the centre of palindrome
B. belong to nuclease class of enzymes

C. join the sticky ends of DNA fragments

D. add methyl groups to RNA

Choose the correct answer from the options given below:

1.Aand D only

2.Aand B and Conly
3. B only
4. Conly

Options :

6009644117. 1
6009644118. 2
6009644119. 3
6009644120. 4

Question Number : 130 Question Id : 6009641030 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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e Ao 1 T @
DNA & fefueh 4T} &l Wiigd §

RNA ¥ e qu oiisd ¢

1.$9d A3RD

2. Ba0 A, B3R C

3, dd B

4, Haq
Options :
6009644117. 1
6009644118. 2

6009644119. 3
6009644120. 4

Question Number : 131 Question Id : 6009641031 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Restriction enzymes

A. cut the strands of DNA a little away from the centre of palindrome
B. belong to nuclease class of enzymes

C. join the sticky ends of DNA fragments

D. add methyl groups to RNA

Choose the correct answer from the options given below:

1.Aand D only

2.Aand B and Conly
3. B only
4. Conly

Options :

6009644121. 1
6009644122. 2
6009644123. 3
6009644124. 4

Question Number : 131 Question Id : 6009641031 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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o :

A,

D.

DNA I UfcTg 7 4aT 3 $F 3 ¥ FIed ¢
e Ao 1 T @
DNA & fefueh 4T} &l Wiigd §

RNA ¥ e qu oiisd ¢

1.$9d A3RD

2. Ba0 A, B3R C

3, dd B

4, Haq
Options :
6009644121. 1
6009644122.2

6009644123. 3
6009644124. 4

Question Number : 132 Question Id : 6009641032 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il
A. Pairing of homologous chromosomes . Chiasmata
B. Actual interchange of segments between I Synaptonemal
two homologous chromosomes complex
C. Protein body formed between paired homologs lI. Synapsis

D. The cross shaped configuration visible between homologs| V. Crossing over

Choose the correct answer from the options given below:

1. A-IV: B-lII; C-I; D-Il
2. A-llI: B-IV: C-I; D-Il
3. A-lll; B-IV: C-Il; D-1
4. A-IV: B-lll; C-1I; D-|
Options :
6009644125. 1
6009644126. 2

6009644127. 3
6009644128. 4

Question Number : 132 Question Id : 6009641032 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 198



el - B G -1 4 GAferd Pifort

Tt -l

A, T TUREH 1 g9 | BRI

B G U H aid ve dafdd |11 v
1er-UgH e

C. e TOREA & He T WS- . Rfcrg
D‘E%%mﬁmaﬂm v R

1. A-IV: B-IlI; C-I; D-Il
2. A-llI; B-IV: C-I; D-Il
3. A-Ill; B-IV; C-II; D-|
4, A-IV; B-Ill; C-II; D-I

Options :

6009644125. 1
6009644126. 2
6009644127. 3
6009644128. 4

Question Number : 133 Question Id : 6009641033 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Find out the correct sequence of evolution of horses

A. Pliohippus

B. Eohippus

C. Merychippus

D. Mesohippus

E. Modern horse

Choose the correct answer from the options given below

1. B=C-D-A-E
2.B=D-C-A-E
3. D-B-(C-A-E
4, C-A-B-D-t
Options :
6009644129. 1
6009644130. 2

6009644131. 3
6009644132. 4

Question Number : 133 Question Id : 6009641033 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1.B-C-D-A-E
2.B=D=C-A-E
3. D-B-(C-A-E
4, C-A-B-D-E
Options :
6009644129. 1
6009644130. 2

6009644131. 3
6009644132. 4

Question Number : 134 Question Id : 6009641034 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Species in a biological community based on number and relative abundance is called

1. Species richness

2. Species diversity
3. Species selection
4. Genetic diversity

Options :

6009644133. 1
6009644134. 2
6009644135. 3
6009644136. 4

Question Number : 134 Question Id : 6009641034 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o e A oifd B S qur Sshid Sgamd deard ¢

1. 91 9wl
2. SiIfq fafaera
3, Wilicl 9UHdl

4, i fafderar

Options :

6009644133. 1
6009644134. 2
6009644135. 3
6009644136. 4
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Question Number : 135 Question Id : 6009641035 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List Il

A. Chloramphenicol | 1. Join the cut ends of DNA molecule

B. Ethidium bromide] II. Makes bacterial cell competent to take up DNA

C. DNA ligase IIl. Selectable marker

D. Calcium V. Agarose gel staining

Choose the correct answer from the options given below:

1. A-lll; B-IV; C-II; D-I
2. A-lII; B-IV; C-I; D-Il
3. A-IV; B-IlI; C-II; D-I
4. A-IV; B-IlI; C-I; D-Il
Options :
6009644137. 1
6009644138. 2

6009644139. 3
6009644140. 4

Question Number : 135 Question Id : 6009641035 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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el -1 1 Gl -1l 4 rferd Pifory

Tl - gl -l
A FAREBHGI |1 DNA & fauieq 4l &1 g
B.SRISUH SMIZS | II, i1V BIRIT BT DNA JTgl &
C. DNA @5 I, Yeldeaa AR
D. hicigH AUNEERESEY
A ey e fadedl H 9 el TR AU

1. A-lI; B-IV; C-II; D-I
2. A-ll; B-IV: C-I; D-Il
3. A-IV: B-III: C-Il; D-I
4, A-IV: B-lll; C-I; D-Il
Options :
6009644137. 1
6009644138. 2

6009644139. 3
6009644140. 4

Question Number : 136 Question Id : 6009641036 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Plants having the floral formula of eﬁxmﬂ,{_jﬂl_ belong to the family

1. Malvaceae

2. Solanaceae
3. Leguminosae
4, Cruciferae

Options :

6009644141. 1
6009644142. 2
6009644143. 3
6009644144. 4

Question Number : 136 Question Id : 6009641036 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

b 1
®§ KisCsAGy,-

SWRIT 79 o= g @ wafia §

1. Areragl
2. wifedl
ERUULIER]
4, P
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Options :

6009644141. 1
6009644142. 2
6009644143. 3
6009644144. 4

Question Number : 137 Question Id : 6009641037 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Seeds planted deep in the soil usually do not germinate, due to

1. They do not get enough oxygen

2. They do not get enough light

3. They are under pressure

4. The seedlings cannot come out of the soil surface
Options :
6009644145. 1
6009644146. 2

6009644147. 3
6009644148. 4

Question Number : 137 Question Id : 6009641037 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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TG 3 T fd el 37 1 UId € it

1, 3! G i W e g &
2. TP T T T T N &
3, 3 W G Ga gl ¢

4, i) T o Tel Ugd UIdl &

Options :

6009644145. 1
6009644146. 2
6009644147. 3
6009644148. 4

Question Number : 138 Question Id : 6009641038 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 207



The following is the sequence of the codons and its corresponding amino acids in polypeptide chain
of haemoglobin

A GUC . Valine
B. CAU ii. Histidine
C. CUC iii. Leucine
D. v

Find the missing codon in “D" and its corresponding amino acid in “iv"

1. GAG- Glutamic acid

2. ACU- Threonine

3. GUU- Valine

4. CCU- Proline
Options :
6009644149. 1
6009644150. 2

6009644151. 3
6009644152. 4

Question Number : 138 Question Id : 6009641038 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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AT & BlgiA qu1 3d FHbe ! S Sl fuveied 3 Uieliipiss gaa ¢
A. GUC . ddH
B. CAU I fexieH

C. CUC Il

D. V.

ORI dIfcihT H D T IV o WU DIS qul ST 3w bl 90 P ;

1. GAG—TGICTIH 3w
2. ACU—Rralf

3, GUU—ddN
4, CCU—UTet

Options :

6009644149. 1
6009644150. 2
6009644151. 3
6009644152. 4

Question Number : 139 Question Id : 6009641039 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements
Statement | : Methanobacterium produces large amounts of CO, and H,.
Statement Il : Most of the Methanobacteria grow in aerobic conditions only.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both statement | and statement Il are true
2. Both statement | and statement || are false
3. Statement | is correct but statement Il is false
4. Statement | is incorrect but statement Il is true
Options :
6009644153. 1
6009644154. 2

6009644155. 3
6009644156. 4

Question Number : 139 Question Id : 6009641039 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A QB G e

B - | HSEINGH CO, TUT H, 31 33 AFT ¥ Faie e ¢
B2 - || G Hea N ardt siaeiad # ad axd ¢
S Bl b e # e faded # 9 98 g

1, 2 Y- T P T
2. BY- 7T P 3 &
3, PUT- T ¢ oifch HY-11 39T &
4, DY AFA g b Y-l ¥l @
Options :
6009644153. 1
6009644154. 2

6009644155. 3
6009644156. 4

Question Number : 140 Question Id : 6009641040 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In a population of wild rats, the frequency of dominant allele for black coat colour is 0.8, what is the
frequency of recessive white allele?

1.08

2.04

3.02

4.0.1
Options :
6009644157. 1
6009644158. 2

6009644159. 3
6009644160. 4

Question Number : 140 Question Id : 6009641040 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

el g1 1 afrar] # S Telie @ e 1 die) @i idl 0.8 8, Redia vellel &1 i &1 3
28

1.0.8
2.04
3.0.2
4.0.1

Options :
6009644157. 1
6009644158. 2
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6009644159. 3
6009644160. 4

Question Number : 141 Question Id : 6009641041 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If due to some injury the chordae tendinae of the right cupsid valve of the human heart is partially
non-functional. What will be the immediate effect?

1. Flow of blood into the aorta will be slowed down
2. Pace maker will stop working
3. Blood will flow back into the left atrium

4. Flow of blood in to the pulmonary artery will be reduced

Options :

6009644161. 1
6009644162. 2
6009644163. 3
6009644164. 4

Question Number : 141 Question Id : 6009641041 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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i g

1.Q&ﬂmﬂmﬂuﬂm%ﬁmiﬁm
2. UGHE B L 6 B el
3, Yqd a9 a1 e H 3 g

4, TR el # vad varg i g

Options :

6009644161. 1
6009644162. 2
6009644163. 3
6009644164. 4

Question Number : 142 Question Id : 6009641042 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Tight junctions are present in

1. Molluscans

2. Annelids
3. Arthropods
4. Amphibia

Options :

6009644165. 1
6009644166. 2
6009644167. 3

6009644168. 4
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Question Number : 142 Question Id : 6009641042 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g H 3 fouH erge WHYH gIaT g 2

1. I-]-ﬂrﬂq

2. ifigd
3, YISy
4, JYTR

Options :

6009644165. 1
6009644166. 2
6009644167. 3
6009644168. 4

Question Number : 143 Question Id : 6009641043 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Dihybrid cross

A. Tightly linked genes on the same chromosome show very few recombinations

B. Genes loosely linked on the same chromosome show similar recombinations as the tightly linked
ones

C. Genes far apart on the same chromosome show very few recombinations

D. Tightly linked genes on the same chromosome show higher recombinations

Choose the correct answer from the options given below:

1.Aand D only
2.Band D only
3.Band Conly
4. A and B only

Options :

60096441609. 1
6009644170. 2
6009644171. 3
6009644172. 4

Question Number : 143 Question Id : 6009641043 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 216



SIZeI5ioe By
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C 3 R W R R ofi=y agd & Ut <ud §

D. 1% H wa & W 3] o aret ol sifi o geid §
A o e faced 8 ) SR

1.9 ATUID
2. 5ad B AUl D

3, Hdd B Yl C
4 HaqATUB

Options :

6009644169. 1
6009644170. 2
6009644171. 3
6009644172. 4

Question Number : 144 Question Id : 6009641044 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the following sets of items in the options is correctly categorized with one exception in

it?
ltems Category Exception
1. Protista, Fungi and Plantae Nuclear membrane present Protista
2. Reptiles, Birds and Homoiotherms Reptiles Mammals
3. Fish, Frog and snake Three chambered heart Snake
4, Pristis, Labeo, Trygon Operculum present Trygon
Options :

6009644173. 1
6009644174. 2
6009644175. 3
6009644176. 4

Question Number : 144 Question Id : 6009641044 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g il & SIF-91 H9 3TaTG Afed Tel oA 4 Tifdd ¢ 2
LT soft Rl
1. Wifew, Had, ey b5 fRrcel] Ude mifewr
2. Wy, uel, e i W
Options :

6009644173. 1
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6009644174. 2
6009644175. 3
6009644176. 4

Question Number : 145 Question Id : 6009641045 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List I
A. Rhizopus |. Deuteromycetes
B. Agaricus II. Phycomycetes

C. Neurospora | Ill. Basidiomycetes

D. Trichoderma | IV. Ascomycetes

Choose the correct answer from the options given below:

1. A-Ill; B-I; C-IV; D-Il

2. A-lI; B-1lI; C-IV; Dl

3. A-IV; B-llI; C-II; D-I

4. A-IV; B-II; C-I; D-I
Options :

6009644177. 1
6009644178. 2
6009644179. 3
6009644180. 4

Question Number : 145 Question Id : 6009641045 Question Type : MCQ Option Shuffling : No Display Question Number : Yes bag e-219



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Tl -1 1 g -1 4 GAferd Pifort

gl -

-l

A, VTEITd

| SRR

1. BIgHMIZRICIA

11, SRS TMRRICT

D. CIEPISeAT V. TYHIARRICT
4 e e fadedl # 9 el IR U
1. A-lll; B-I; C-1V; D-Il
2. A-Il; B-III; C-IV; D-|
3. A-IV; B-llI; C-11; D-|
4. A-IV; B-II; C-I; D-llI
Options :

6009644177. 1
6009644178. 2
6009644179. 3
6009644180. 4

Question Number : 146 Question Id : 6009641046 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In the middle of twentieth century the population of DDT resistant mosquitoes was insignificant in
India. However, their number have been increase rapidly after a local spray program of DDT begun,
now they constitute the major portion of mosquito population in our country. The type of process
operating in this situation is

1. Lamarckian selection
2. Disruptive selection
3. Natural selection

4, Artificial selection

Options :

6009644181. 1
6009644182. 2
6009644183. 3
6009644184. 4

Question Number : 146 Question Id : 6009641046 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

diedl ¢ & YR™ § HRd § DT Y syl wwl B de g 4 b deiq fafd oot
R S®Id TP & I d9aH 7 DDT fgama & i) 7l 31 4T 95d 96 T ¢1 38 VR 1
BioF T 1 g1 T &

1, AT 90
ARSI
3, Widldd
4, BT 9
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Options :

6009644181. 1
6009644182. 2
6009644183. 3
6009644184. 4

Question Number : 147 Question Id : 6009641047 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement | : All chordates are vertebrates.

Statement Il ; All the vertebrates are chordates but all the chordates are not vertebrates

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both statement | and statement Il are true
2. Both statement | and statement || are false
3, Statement | is correct but statement Il is false

4. Statement | is incorrect but statement Il is true

Options :

6009644185. 1
6009644186. 2
6009644187. 3
6009644188. 4
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Question Number : 147 Question Id : 6009641047 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A @ o U g -

B - |- 9 FlSe PUTDI B

B - 1| §Hl BRBDI BlC ¢ Wq 94l Bloc HUSDIT Tol g
SR FHAl & el H g fadel 4 9 g SR T

1. Sl Y| T FYH-1 A

2. Sl Y- T HU-11 3 §

3, HU- T ¢ i HUH-Il 30 &
4, HY-| 3 ¢ ik HU-I T

Options :

6009644185. 1
6009644186. 2
6009644187. 3
6009644188. 4

Question Number : 148 Question Id : 6009641048 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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RNA acts as a genetic material in

1. Rhizobium

2. TMV

3. Ty virus

4, All of the above

Options :

6009644189. 1
6009644190. 2
6009644191. 3
6009644192. 4

Question Number : 148 Question Id : 6009641048 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

IR, T, U, Fg 9 3yrgaifie werd & U

1, USuIegH
2. ¢,
3. T, 110

4, IR Gl

Options :

6009644189. 1
6009644190. 2
6009644191. 3
6009644192. 4
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Question Number : 149 Question Id : 6009641049 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Mammalian teeth

A. Thecodont

B. Monophyodont
C Diphyodont

D. Heterodont

E. Homodont

Choose the correct answer from the options given below:

1.Band Cand D and E only
2.Aand Cand D only
3. Aand B and E only

4. Aand B and D only

Options :

6009644193. 1
6009644194. 2
6009644195. 3
6009644196. 4

Question Number : 149 Question Id : 6009641049 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1.%qq B, C, DAUTE
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3, BAq A BAUTE

4. A A BTUID
Options :
6009644193. 1
6009644194. 2

6009644195. 3
6009644196. 4

Question Number : 150 Question Id : 6009641050 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the following groups of animals is correctly matched with its one characteristic without
even a single exception?

1. Mammalia-Give birth to young ones

2. Reptilia-Possesses three chambered with one incompletely divided ventricle
3. Amphibia-External fertilization

4. Chondrichthyes-Cartilaginous endoskeleton

Options :

6009644197. 1
6009644198. 2
6009644199. 3
6009644200. 4

Question Number : 150 Question Id : 6009641050 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o 5 8 B1-3 oftd 1 g ot ol o1ae o ST U farival & < g 0 ¥ 4 ¢ 2

1, TFHRI—TawTa f37] 1 o ¢ §

2. FRgU—li= 1 1 ge orere udh fddiRd i 1l &
3, JHIR—ATE] U5

4, Blg IR SfAHPI

Options :

6009644197. 1
6009644198. 2
6009644199. 3

6009644200. 4
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